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Please read the instructions carefully. You are allotted
5 minutes specifically for this purpose.

Max. Marks : 720
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1. Immediately fill the particulars on this page of the Test
Booklet with Blue / Black Ball Point Pen. Use of pencil is
strictly prohibited.

198 gRa® @ 39 US UX SrawEd fAgwer Hel/wrd dfd
9ET 99 9 @™ AR ufd @1 gam RQega afsfa g |

2. The Answer Sheet is kept inside this Test Booklet. When
you are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars carefully.

2. ITR U 39 WEI GRAFT & JT/L IWT 8 | G AUH e
gRa® @aT H1 BB FN A OISR U fEE FR
Jraenyde favor ¥ |

3. The testis of 3 hours duration.

3. wenm ®Y A 3w B

4. The Test Booklet consists of 180 questions. The maximum
marks are 720.

439 gden gRTHT H 180 YT B | AMYHAH 37w 720 % |

5.There are three parts in the question paper A, B, C
consisting of Chemistry (45), Physics (45) and Biology
(90) questions. Each question is allotted 4 (four) marks for
correct response.

5. 39 ydenm gRTST W 19 Wi A, B, C B | Rwa yd® W |
aEa fasm (45), ifds fasm (45), w@ Sfia fasm (90)
ge B 3 W gIAi & o WHM 2| g-¥Pd YA B el
SR & v 4 (@R) e FuifRa 53 ™ 2

6.Candidates will be awarded marks as stated above in
Instructions No. 5 for correct response of each question. Vs
[one fourth (-1)] marks will be deducted for indicating
incorrect response of each question. No deduction from the
total score will be made if no response is indicated for an
item in the answer sheet.

6. Rl B wAF WH I B fay SwWiT fdwT @eaT 5
$ FAdugEr 9ed 3 99 | 9@dE Uz & Tdd SR B
fad vaar w1 (-1) @we fam w@wm | Ak sw ogRasr #§
FA e & I T I W™ A @ wA uNiE | B
Ferfl T 5 IR

7.There is only one correct response for each question. Filling
up more than one response in any question will be treated
as wrong response and marks for wrong response will be
deducted accordingly as per instructions 6 above.

7030% U3 BT HId Ud B W SUX 2] UP A AP SN
9 W S TAT SR AT IR R Suked [y 6 b
IR &F de Iy T |

Filling the Top-half of the OMR :

Use only Blue/Black ball point pen only for filling the
OMR. Do not use Gel / Ink / Felt pen as it might smudge
the OMR.

ANTAJIR (OMR) B FuN-311d /W &1 G :
OMR #! 434 & fay #ad Hld/d1d dfad 99 &1 SUAW
i

8. Write your Roll no. in the boxes given at the top left corner of
your OMR with blue/black ball point pen. Also, darken the
corresponding bubbles with Blue/Black ball point pen only.
Also fill your roll no on the back side of your OMR in the
space provided (if the OMR is both side printed).

8. OMR & |a¥ U @ & H fqu wv dfes # rw=1 oA
TR N/ BT dfcd Wgee @ fafew qur g Mo ff sao
AN /BT U9 F 9T | OMR & N8 & ave M 3gar o
T3 fafay (afs OMR @1 W% &9 83 2 1).

9. Fill your Paper Code as mentioned on the Test Paper and
darken the corresponding bubble with Blue/Black ball point
pen.

9. OMR UR 94T 9ux HIs fafgy qen Guwd Ml & et/ drad
9fd U9 |/ BT BT

10. If student does not fill his/her roll no. and paper code
correctly and properly, then his/her marks will not be
displayed.

10 3fy faemeff eroAT AT FFR qAT YR BIS AL IR S
e T8 R 8 99 SHBT aRUM e faar SIE |

11.Since it is not possible to erase and correct pen filled
bubble, you are advised to be extremely careful while
darken the bubble corresponding to your answer.

1. 9% 99 @ W Y M fAem &y guRar @ T8 3
gafay g wrEgEl qde du STR @ Ml BT WY |

12.Neither try to erase / rub / scratch the option nor make the
Cross (X) mark on the option once filled. Do not scribble,
smudge, cut, tear, or wrinkle the OMR. Do not put any stray
marks or whitener anywhere on the OMR.

12fQ%®@ #1 9 fed,/9 ¥a B3 3R 7 & Taa (X) g &
W | OMR B! ®T1C 9 & ®BTS T & 7T A8 B ol HI1g f
frena @ 9% OMR Uv A8 Ay

13.If there is any discrepancy between the written data and the
bubbled data in your OMR, the bubbled data will be taken as
final.

13. Ife OMR ¥ ¥l bR @Y forer TV arfps o et fohy sriwst
H fREM & a1 el Y Siepel B1 & T8l I ST |
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(CHEMISTRY

Choose the correct (V') answer: | wwR @1 W (V) -

1. A given nitrogen-containing aromatic compound A | 1. % far T Tregie—gm WHles Aff1s A, Sn/HCI
reacts with Sn/HCI, followed by HNO, to give an unstable | TT 91 H HNO,, & fohalm axas U aerrll Al B <t
compound B. B, on treatment with phenol, forms a| 2| B %At & A1 fohar axa b g IE AiffTa C
beautiful coloured compound C with the molecular | AT &, Rrer sv—ga C,,H, N,0 & | difis A @
formula C,,H,,N,O. The structure of compound Ais : | YT 8 —

CONH;,

oy

CONH;, CONH,
(2) 2) ©/

NO, NO,
(3) 3) ©/

CN CN
o s

2. Consider the reaction :

2. 9= fafhar R foar I —

This reaction will be the fastestin : g srfafsar feoad sifa oy 2 fi?
CH3CH,CH,Br + NaCN — CH3CH,CH,CN + NaBr | CH3CH,CH,Br + NaCN — CH3CH,CH,CN + NaBr
(1) water (2) ethanol (1) <o (2) wHEr
(DMF) (DMF)
3. The correct structure of the product A formed in the | 3. rfafehar
reaction: o
H, (gas, 1 atmosphere) _ Pd / rd=, vote
> A IS:
Pd / carbon, ethanol H 99 dTel SIS A Bl HE] AT & —
OH OH OH OH
(1) ® ) (1) ® )
O OH o) OH

) )

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
(3) methanol 4) N,N’-dimethylformamide: (3) wHTA 4) N,N-SEaRhHEfES

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
: 3) 0
|
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4,

Which among the give nmolecules can exhibit| 4.

tautomerism?

(o) o)
Ph
Ph

I II 11

(1) Bothlland Il
(3) Bothlandlll
The correct order of strengths of the carboxylic acids

COOH COOH COOH
O
o)

|

|

|

|

|

(2) Monly I
|

|

|

|

|

|

|

. |
IS |
|

|

|

|

|

|

|

|

|

|

|

|

|

|

(4) Bothlandll

I I I
) 1>1>11 @) I>1>1
@) 1>11>1 @) N>1>

The compound that will react most readily with gaseous
bromine has the formula:

(1) C,H,
(3) C,H,

(2) C;Hq
4) CHy,

Which one of the following compounds shows the | 7

presence of intramolecular hydrogen bond ?
(1) Concentrated acetic acid

(2) H,0,

(3) HCN

(4) Cellulose

The molar conductivity of a 0.5 mol/dm? solution of AgNO, | 8.

with electrolytic conductivity of 5.76 x 10> S c¢m™ at|
298 K'is

(1) 28.8S cm?mol
(2) 2.88Scm?mol
(3) 11.52'S cm?mol

|
|
|
|
|
(4) 0.086S cm¥mol |

The decomposition of phosphine (PH,) on tungsten at | 9.

low pressure is a first-order reaction. Itis because the |
(1) Rate of decomposition is very slow |
(2) Rateis proportional to the surface coverage I
(3) Rateisinversely proportional to the surface |
coverage |

|

|

(4) Rateisindependent of the surface coverage

ey T arupent # A fhad aerggaan sRM?
O O
Ph
Ph
I 1 11
(1) SR IIET 2) @aa il
(3) 1R NI SHT @) 13RI S=
PIaTfIfeTd 3TFel & ALY BT el B :
COOH COOH COOH
OO
¢}
I I 11
(1) n>1>1 @) I>1>101
@) >1>1 @) n>1>1

S e o1, S b Ry S99 9 e A |
fhar axaT 8, 3 ® —

(1) CH, (2) CH,

(3) C,H, (4) CH,,

o d 9 feg e o s anfdas gssioe ey
Sufkerd g ?

(1) <% VAhIfe® o e

2) H,0,

(3) HCN

(4) wgar

0.5 mol/ dm®, AgNO,, & e, fSree! faga—oraees
AeAdhd 5.76 x 10° S cm™ B, 3 298 K TR HIeR ATefdal
=5

(1) 28.8S cm?mol
2) 2.88Scm?mol
(3) 11.52S cm%mol
(4) 0.086 S cm?/mol

<R IR BRI (PH,) BT g <16 TR 3qeeH T JoH
Bife ot 1At 8, Faifs

(1) 3= &1 9T 9gd 41 2

(2) T, TS F BRE Bb FHUR B

(3) I, UB F OR1G & JHATIURH B |
(4) 9T, IS B ERE W WA B
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10.

1.

12.

13.

14.

15.

16.

17.

The coagulation values in millimoles per litre of the|
electrolytes used for the coagulation of As,S, are given |
below : |
I. (NaCl) = 52, II. (BaCl,)=0.69 lll. (MgSO,) = 0.22 |
The correct order of their coagulating power is |
(M m=>1>l 2 I=1=>1m |
(3) H=>I1=>ll @) m=>1I=>l |
During the electrolysis of molten sodium chloride, the I
time required to produce 0.10 mol of chlorine gas using |
a current of 3 amperes is |
(1) 330 minutes (2) 55minutes |
(3) 110 minutes (4) 220 minutes :
How many electrons can fit in the orbital for which|
n=3and { =17 |
(1) 14 2) 2 |
3) 6 4) 10 |
For a sample of perfect gas when its pressure is|
changed isothermally from p; to p,, the entropy change |
is given by

S =RTI &] S=nRI [p—f]
(1) A n[pf @) A nRIn o

S=nRI &] S =nRTI [p—f]
@A) A n n[p @) A n n o

f i

the strong electrolyte barium hydroxide is

(1 3 2 0

@ 1 @ 2 |
The percentage of pyridine (C H.N) that forms]|
pyridinium ion (C;H,N"H) in a 0.10 M aqueous pyridine |
solution (K, for C.H,N = 1.7 x 107°) is |
(1 1.6% (2) 0.0060 % I
(3) 0.013% @) 0.77 % |
In calcium fluoride, having the fluorite structure, the |
coordination numbers for calcium ion (Ca2+) and fluoride |
ion (F7) are |

|
|
|
|
|
|
|
|
The van’t Hoff factor (i) for a dilute aqueous solution of |
|
|
|

(1) 4and8 (2) 4and2 |
(3) 6and6 (4) 8and4 |
If the EZ,, for a given reaction has a negative value, |

which of the following gives the correct relationships|
for the values of AG® and Keq? |
(1) AG°<0;K, <1 (2 AG*>0;K, <1 |
(3) AG°>0;K,>1 (4) AG’<0; K, > 1 |

10.

1.

12.

13.

14.

15.

16.

17.

As,S, ® Whad H ygad fAgd—aueedl & wpad A
fretrer e eflex & et fod 7 €
I. (NaCl) = 52, II. (BaCl,) = 0.69 IIl. (MgSO,) = 0.22

b Xhad fdd BT el HH B |
(1) W>1>1 @) 1>1>1
@) >1>1l @) >1>|

oI WIS FARTSS & fAgfa—aueed & aRM 3 URRR
IRT ¥ 0.10 AT TR G & 9991 § fhd=T T5 e
gl

(1) 330 fire (2) 55 fae

3) 110 e (4) 220 fare

N=3Tqd / =1 P&l H fbad scideid T Adhd & ?
(1 14 2 2

(3) 6 4) 10

Th HA1&e A & T BT &6 H GRad p, A py, THAT
TR BT ® | 39! el # aRad= 8 |

S =RTI &] S =nRI [p—f]
(1) A n[pf (2) A nRIn B

S =nRI &] S = nRTI [p—f]
(3) A n n[pf (4) A n n B

U9 fagfd—aracy dRTH BIgSiavgs & O Sleild faere
& forg are 8% Ionias (i) 2 |

(1 3 2 0

3) 1 4) 2

0.10 M aREM (C4H,N) & STefia faerae (CHN) @ ferg
K, = 1.7 x 107° % faRSIfe am [CHN'H] a7 &
forg RS & uftrerdar 2 |

(1 1.6% (2) 0.0060 %

3) 0.013% @) 0.77%

BicHTH FIRISS H, OTD! FRIRTST AT & dbfcdTA
3T (Ca?") Td TfeiRIgS 31 (F7) & fory Suagsor
| g |

(1) 43k8 (2) 43iR2

(3) 63iR6 4) 834

i fdr <1 Y aAffehar & fog B, &1 914 o
8 AGUd K, & |l & forg el wverer ®

(1) AG°<0;K, <1 (2 AG*>0;K, <1

(3) AG°>0;K,>1  (4) AG’<0; K, > 1

D Target PMT o,

Head Office : A-1/169, Main Najafgarh Road, Janakpuri, New Delhi-110058

011-41024601-05

excrusivew ror menicaL enrrance | E-maail : info@targetpmt.in

Website : www.targetpmt.in

Page No #4




NEET-2016(PHASE-ll)/Code# BB, QQ, XX

Date : 24.07.2016

18.

19.

20.

21.

22,

23.

24,

Which one of the following is incorrect for ideal solution? | 18.

|
(1) AG,,=

|
(2) AH;, =0 I
(3) AU,,=0 |
@4) AP=P, -P =0 |

calculated by Raoult’s law

The solubility of AgCl(s) with solubility product| 19.

1.6 x 107"%is in 0.1 M NaCl solution would be
(1) Zero 2) 1.26x10°M
(3) 1.6x10°M @) 1.6x107""M

Suppose the elements X and Y combine to form two ! 20.

compounds XY, and X,Y,. When 0.1 mole of XY, and
XY, weights 10 g and 0.05 mole of X,Y, weights 9 g,
the atomic weights of Xand Y are

(1) 30,20 (2) 40,30

(3) 60,40 (4) 20,30

The number of electrons delivered at the cathode during | 21.

|
|
|
|
|
|
|
|
|
|
electrolysis by a current of 1 ampere in 60 seconds is :
(charge on electron = 1.60 x 107'° C) |
(1) 7.48 x10% |
2) 6x10% |
(3) 6x10% I
@) 3.75x 10%° |
Boric acid is an acid because its molecule | 22.
(1) Combines with proton from water molecule I
(2) Contains replaceable H" ion |
(3) Givesupaproton |
@ :
AlIF, is soluble in HF only in presence of KF. It is due | 23
to the formation of I

|

|

Accepts OH™ from water releasing proton

(1) KIAIF;H]
(3) K, [AIF]

(2) K;[AIF;H,]
4) AH,

Zinc can be coated on iron to produce galvanized iron | 24.

but the reverse is not possible. It is because

(1) Zinc has higher negative electrode potential than
iron

S

Zinc is lighter than iron

—_~
W
= =

Zinc has lower negative electrode potential than

|
|
|
Zinc has lower melting point than iron I
|
iron |

|

|

e e & fofg 71 § 9 BI9—41 Udh Tard 87
(1) AG,,=

2 AH_ =0

(3) AU =0

(4) AP =P s = Piaculated by Raoults law = O

0.1 M NaCl faeras # 1.6 x 107" faerar oewa arel
AgCI(s) @1 faeraar grfi?

(1) = 2) 1.26x 10°M

B) 1.6x10°M @) 1.6x107""M

H14 of fob <1 ded X8Ik Y et a1 Aiffie XY, vd X,Y,
< €1 519 0.1 |t XY, BT 9R 10 g 7= 0.05 Hidt X,Y,
PHTAR 9g 8, AT X3R Y & URHAIY 4R 8 —

(1) 30,20 (2) 40,30

(3) 60,40 (4) 20,30

1 YRR gRT R fAgd—arTae & SR 60 JHUS H HATS

R TAFCA! B G AT T (SAFGIT BT AT
=1.60 x 1079 C)

(1) 7.48x10%

2) 6x10%

(3) 6x10%

@) 3.75x 10%

AIR® 31T b e &, difch 5D Y]

(1) ST & 377] & UIeH & Arer Afferd g 2 |
2) ¥ uforermos H 3= 2 |

(3) WM T §

(4) ST 9 OH™ U &S Ui od & |

. AIF, &7 HF % e saat KF a1 SuRerfd # 8 8, g
febsres &= & PHROT Il B

(1) K[AIF,H] 2) K,[AIF,H,]
(3) K,[AIF] (4) AH,

i @I JMRA R Ifdd &R A SIGR gl (IRH)

I 2, STafch SHBT AU dvd 8T & | SHPBI PRI & —

(1) Rid &1 FoTHS Sodgle favd MR | <I1eT 2 |

2) i, =T | goh! BT B |

(3) i® &1 TeAld AMIRT A HH B |

@) Rid &1 FOTHS Fdgle fad MRT F HF 2 |
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25.

26.

27.

28.

29.

30.

31.

32,

The suspension of slaked lime in water is known as I 25.

(1) Aqueous solution of slaked lime |
(2) Limewater |
(3) Quicklime I
(4) Milk of lime |
The hybridizations of atomic orbitals of nitrogen |n|
NO; ,NO; and NO, respectively are |
(1) sp? spandsp®  (2) sp, sp°and sp?
(3) sp? sp®and sp (4) sp, sp®and sp®

Which of the following fluoro-compounds is most likely
to behave as a Lewis base ?

(1) SiF, (2) BF,

(3) PF, (4) CF,

Which of the following pairs of ions is isoelectronic and
isostructural ?

(1) ClO;,S0% (2) COZ .NO;

(3) ClO,,CO% 4) SOZ,cor

In context with beryllium, which one of the following
statements is incorrect ?

(1) Its hydride is electron-deficient and polymeric.
(2) Iltisrendered passive by nitric acid

(3) ItformsBe,C

(4) lts salts rarely hydrolyze.

Hot concentrated sulphuric acid is a moderately strong | 3 |
oxidizing agent. Which of the following reactions does |
not show oxidizing behaviour ? |

(1) CaF,+H,S0, —— CaSO, + 2HF
(2) Cu+2H,80, —, CuSO, + SO, +2H,0
(3) 2S+2H,S0, — 2SO, +2H,0

(

4) C+2H,80,_, CO,+2S0,+2H,0

Which of the following pairs of d-orbitals will have' 31

(1) dy.d @ d..d,

Q) d,d
The correct geometry and hybridization for XeF , are -
(1) square planar, sp°d?

(2) Octahydral, sp°d?

(3) trigonal bipyramidal, sp®d

(4

|

|

|

|

|

I

electron density along the axis ? I
|

@) d..d. . I
|

|

|

|

|

) planar triangle, sp>d® |

32,

1 g BT U H e wEemar @

(1) 1 T BT STy e

(2) =7 1

(3) AT =LA

(4) o g

NO; ,NO; 3R NO; H AEIoA & WRHIVGS Hehl &
HBIT &, HHA:

(1) sp’ sp3iRsp®  (2) sp, sp’ sk sp?

(3) sp’sp’3Rsp  (4) sp, sp’ 3R sp’

1 5 | P41 TGaiRI AT Fallidh w0 I g4 &R
P! TE FIBR AT ©

(1) SiF, (2) BF,

(3) PF, (4) CF,

=1 # A Al b1 B gH FHSAdE D Td
FAERATHD § ?

(1) ClO;,S0%

(2) COZ NO;

(3) Clo;,COoZ (4) soZ,cor

aRferm & de 4 9 el # 9 pH—31 Taq &7
(1) TP BESISS Seldgd—gd Ud 98P © |

(2) HH ERE ot gRT fSHA A= R S 2 |
(3) IE Be,C I |

(4) sHD SaUT gewdl H STe—3fuHfed B & |

T AT SRR S G A el ATIPRS 2 |
et 9§ A P aiffehar sifeiiepRor eyagR w81 <@l
g7

(1) CaF,+H,80, —> CaSO, + 2HF

(2) Cu+2H,S0, — , CuSO,+ SO, + 2H,0

(3) 2S+2H,S0, —, 2S0,+2H,0

(4) C+2H,80,, CO,+2S0,+2H,0

1 H 9 d-PeTdl & 5 g 4 Selag [ a9 &l &
Ifeer & ?

(1) dyd @ d..d,

3) d,d 4) d:9d.
XeF, @ forg w81 sanffay vd wE dawor © —
(1) o wHaey | spid?

(2) Ir<HAB, spid?

@) i GRfEE), spid

@) e Brprvr, spd®
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33. Among the following, which one is a wrong statement?l 33. 9 # 9 P91 HUF AT 272

34.

35.

36.

37.

38.

1) I, has bent geometry.

(
(2) PH;and BiCl, do not exist.
(
(

4) SeF,and CH, have same shape.

The correct increasing order of trans-effect of the, 34.

|
|
|
3) prn—drbonds are presentin SO, |
|
|
|

following species is

(1) CN™>Br > C.H;" > NH,
(2)NH;>CN™>Br>C.H,"
)

(4)Br > CN™> NH, > C(H,~

Which one of the following statements related to, 35

|
|
|
(3) CN™> C,H, > Br > NH, I
|
|

lanthanons is incorrect ? |
(1) Ce (+4) solutions are widely used as oxidizing |
agent in volumetric analysis. |
Europium shows +2 oxidation state. |
The basicity decreases as the ionic radius |
decreases from Prto Lu |
All the lanthanous are much more reactive than I
aluminium |

|

Jahn-Teller effect is not observed in high spin| 36

complexes of

(1 o (@ d
@) o8 @) d*
Which of the following can be used as the halide
component for Freidel —Crafts reaction?

(1 (2) Chlorobenzene
(3) (4) Chloroethene

In which of the following molecules, all atoms ar
coplanar ?

Isopropyl chloride

Bromobenzene

|
|
|
|
el
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

3
3

7
8

(1) L@ Sarfafy dfed 2 |

(2) PH3iR BiCl, T a1 T8l & |

(3) SO, pn—dn 3MMee BT & |

(4) SeF, 3l CH, @1 3R HA 2 |

=1 el & forQ S a—orTa 7 agaT g 8l & & —
(1) CN™>Br > C,H,~> NH,

(2) NH, > CN™>Br> C,H,~

(3)CN™> CH, > Br >NH,

(4)Br >CN™>NH,>CH,"

T ol # § P dIHE & ded H Ted © ?
I faveyor # ffRiIeRS & §9 H Ce (+4)
faerl &1 g8 w9 # ST faar S 2 |
TRIMTH +2 STRITHOT FaeN 2T ¥ |

Pr¥ Lu do 3Maf9e 3901 & e & A1 eRebdT
gedl 2|

(4) T <RF, Yogffam @ o s foramdie 2 |
T o 9 fhas S 9% Agell d IF—<oR U9
53y el 27

(1 o @ d

3 o @ d*

=1 % O fod hed—praey fffhar § 2SS Ucd &
®T | STINT § IR-IT S bl 87

(1) AMSAUNT FEARRS (2) FARTGOIN
(3) IS (4) FARGL
1 9 9 for aro] # w1 uRETo] A 27

0 O-On

CH CN
CH;, CN N\
N, 7 C=C
c=C (3) 4) 77 NeN
© @ TN CH;
CHj3
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39.

40.

41.

Which one of the following structures represent nylon
6,6 polymer ?

%) H H
2 CH,)s—NH
/C\ /C\ /N——(' 2)6 ~N
(1) C :
0]

H,
/
2 <
CH3
3) </ ~H - \H/>
2 NH2

H, H,
H, CHCH-
/C H_CoH i Y /s
4) \?/ \? Hs COOH
2 6

In pyrrole

\H/ \H/

NH2

the electron density is maximum on
(1) 2and5 (2) 2and3
(38 3and4 (4) 2and4 |

Which of the following compounds shall not produce |
propene by reaction with HBr followed by elimination |
or direct only elimination reaction ? |

H
(1) HsC—C—CH,Br (2) H,C—CH,
\/
C
H,

Ho
(3) H;C—C—CH,0H

|
|
|
|
|
(4) H,C=C=0 |
|
|
|

39.

40.

41.

1§ Q4 P ERFAT A8 6,6 98P DI USRI
BT & ?

%) H H
2 CH,)s~NH
/C\ /C\ /N——'(- 2)6 \
M C ti:
. /

NH; NH, /66
H, H
CH O H-
.
@ (NN Hs COCH
NH2 Cl 6
URRIe
4 3
5 / \ 2
N
| 1
H
H golaeid g Afrhdd ©
(1) 23R5W 2) 23IR3 W
(3) 33R4w 4) 23R4 ™

=1 # 9 ®I9—1 1T HBr I fhar &xa dr 91g #
faetras arfafehar a1 el daar fato= afdfshar & urdi=
e Tar g ?

H
(1) HsC—C’—CH,Br (2) HZC\—/CHZ

C
H,

H
(3) HsC—CZ-CH,OH (4) H,C=C=0
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42. Which one of the following nitro-compounds does not | 42. 7 & & BIH—a1 ATSET AIfT®H, ATSEH 37l & fovar &l

43.

react with nitrous acid

CHj3

|
) c
N H Mo,
(@)

H;C

HaCx,
H;C—C—NO;

@ he

the central dogma of molecular genetics states that
the genetic information flows from

1) DNA RNA Carbohydrates

)
2) Amino acids —— Proteins —— DNA
)

3) DNA —— Carbohydrates —— Proteins

(
(
(
(4) DNA RNA

The correct corresponding order of names of four aldoses
with configuration given below

Proteins

CHO CHO
H——OH HO——H
H——OH H——OH

CH,OH CH,OH

CHO CHO
HO——H H——OH
HO——H HO——H

CH,OH CH,OH

respectively, is

(1) D-erythrose, D-threose, L-erythrose, L-threose
(2) L-erythrose, L-threose, L-erythrose, D-threose
(38) D-threose, D-erythrose, L-threose, L-erythrose
(4) L-erythrose, L-threose, D-erythrose, D-threose

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
| 43.

|
|
|
|
|
|
|
"
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

PRAT B ?

T

HaCx.
H3;C—C—NO,

H,C”

1O STFARIBAT BT Dsd G bedl & (P ATTAlRTD
AT BT YdTE BICT &

)

(1) DNA RNA PARISSC
(2) VHET e PICE] DNA
(3) DNA —— PrlEIgSc —> U
(4) DNA RNA PIaE]
o Ry T TR Ve
CHO CHO
H——OH HO——H
OH H OH
CH,OH CH,OH
CHO CHO
HO——H H——OH
HO——H HO——H
CH,OH CH,OH

@ 9 B Aol G HH B, HAL:

(1) D-uRel<, D-fri, L-uRens, L-freiRg
(2) L-uReiN, L-fri, L-uRels, D-freia
(3) D-fraird, D-uReiRT, L-forir, L-gReisd
(

)
)
)
4) L-uRelN, L-fore<, D-uRei, D-frei

dDTarget PMT

Head Office : A-1/169, Main Najafgarh Road, Janakpuri, New Delhi-110058

Contact No : 011-41024601-05

E-mail : info@targetpmt.in

EXCLUSIVELY FOR MEDICAL ENTRANCE

Website : www.targetpmt.in

Page No #9




Date : 24.07.2016 NEET-2016(PHASE-ll)/Code# BB, QQ, XX

45,

46.

47.

48.

49.

In the given reaction 45, <1 IR0 srffehar
HF HF
the product P is # 3 PR

|
|
|
|
|
|
|
|
|
F I F
() ‘ ‘ @ I ) ‘ ‘ @
|
|
|
|
|
|
|
|
|
|

F F

3) (4) 3) (4)
BIOLOGY

Aforeign DNA and plasmid cut by the same restriction | 46.  Te &1 ST GeIfderst & PTc T T fasTieia DNA
endonuclease can be joined to form a recombinant | IR RS Bl GAANTST oS a9 & forg fsrar
plasmid using | SR IR® 5 SISl oIl FHdl & 7
(1) ligase (2) EcoRl I (1) SIS (2) EcoRl
(3) Tagpolymerase  (4) polymerase |l I (3) & Ul (4) iRt I
Which of the following is not a component of | 47. FR=TTeTRET 3 I BI--AT STIUATE UhHOT Bl U add ol
downstream processing? | 27
(1) Expression (2) Separation I (1) arf¥eafed (2) YapRUT
(3) Purification (4) Preservation | (3) g (4) TRxeror
Which of the following restriction enzymes producesI 48. forforfaa & & wiar ufaeer Tomsd gfed R S
blunt ends? PHRAT B ?
(1) Hind Il (2) Sall (1) Hindlll (2) Sall
(3) EcoRV 4) Xhol (3) EcoRV (4) Xhol

IR a2 BT diferat BT fA=fRIT & I wiaxiT ferfbear &
T ?

(1) fafdzor ferfbear 2) o fafdear

(3) A fafden (4) wfcRer fafdea

old girl with adenosine deaminase (ADA) deficiency?
(1) Radiationtherapy (2) Gene therapy

|
|
|
|
Which kind of therapy was given in 1990 toafour-year—l 49. ¥ 1990 # TFETHT ST (TET.) 1 B+ & ifse
|
|
|
(3) Chemotherapy (4) Immunotherapy |
|

) T PMT Head Office : A-1/169, Main Najafgarh Road, Janakpuri, New Delhi-110058
Contact No : 011-41024601-05
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50.

51.

52.

53.

54.

55.

56.

57.

How many hot spots of biodiversity in the world have I
been identified till date by Norman Myers? |
(1) 43 2) 17 |
3 25 4) 34 I
The primary producers of the deep-sea hydrothermal |
vent ecosystem are

|
(1) coral reefs |
(2) greenalgae I
(8) chemosynthetic bacteria |
(4) blue-green-algae |
Which of the following is correct for r-selected species? |
(1) Small number of progeny with large size |
(2) Large number of progeny with small size |
(3) Large number of progeny with large size I
(4) Small number of progeny with small size |
If ‘+’ sign is assigned to beneficial interaction, ‘~ sign to |
detrimental and ‘0’ sign to neutral interaction, then the|

population interaction represented by ‘+’ ‘- refers to

(1) parasitism (2) mutualism

(3) amensalism (4) commensalism

Which of the following is correctly matched?

(1) Stratification-Population

(2) Aerenchyma-Opuntia

(3) Age pyramid-Biome

(4) Parthenium hysterophorus-Threat to biodiversity
Red List contains data or information on

(1) marine vertebrates only

(3) plants whose products are in international trade
(4) threatened species

Which one of the following is wrong for fungi?

(1) They are both unicellular and multicellular.

(2) They are eukaryotic.

(3) All fungi possess a purely cellulosic cell wall.
(4) They are heterotrophic

Methanogens belong to
(1) Slime moulds (2) Eubacteria

|
|
|
|
|
|
|
|
|
|
|
|
|
(2) all economically important plants |
|
|
|
|
|
|
|
|
|
|
|
|
|
(4) Dinoflagellates |

(3) Archaebacteria

50.

51.

| 52.

53.

5
56.
7

A A IRT 319 I fawa H foae1 Sig fafderdr arer gfe
e g T ?

(1) 43 ) 17
3) 25 4) 34
TER WS & SISl I YIRAS H URIA® IaIGd Hiv
g7?

(1) varer oy

(2) &Ra Yara

(3) ARIT—HTAT ST

@) “ra—eRa dara

r-aafd Siferl @& aR ¥ frferRad # 9 sl w8 8 2
(1) ®H A= | g MY drell Fdfa

(2) < AT A BIT A aTell Hfa

(3) IS WA H I I dTell Ffd

(4) SH A= H BIS AT dTell Hafd

afe + R BT AR WRER fhar & forg = g &1
BIM®R® & o1y 3R ‘0 g &1 ITRIA IRRORfhT &l
forg faam S &, @1 '+ - gRT TR wWite weRfpar
o wefia &t 8 ?

(1) RS (2) WEIeBIRGT

(3) SRS URSHTAT  (4) FEHIoTal

@) grfifaas Rvevimivg —3a fafaedr & forg dae
el A # fhed IR # 3ffrs a1 I B § ?

(1) Pad FYs! Hewd! urofl

(2) ofdfd wU ¥ AEYUl T UTey

(3) 9 Uy RN\d Iare RIS IR # &

(4) HHer= Sl

FHadpt & forg fmforRad & | wiFar Tod € ?

(1) A THPIRDBI MR TEHINRSIT S THR & B © |
2) I D= 2 |

3) Wl Had # Yg AgArd arell IR ARy 81l 7 |

@) 3 fowmur g 2|
ST foresy e g 8 ?

(1) 3aus wHd (2) gofraryg

(3) smersiary (4) SrgITSiee
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58. Select the wrong statement.

(1) Diatoms are microscopic and float passively in

water.

(2) The walls of diatoms are easily destructible.

(3) ‘Diatomaceous earth’is formed by the cell walls

of diatoms.

(4) Diatoms are chief producers in the oceans.

59. The label of a herbarium sheet does not carry 5

information on
(1) height of the plant

(3) name of collector

60. Conifers are adapted to tolerate extreme environmental | 60.

conditions because of

(2) date of collection

(4) local names

(1) presence of vessels

(2) broad hardy leaves
(3) superficial stomata
(4) thick cuticle

61. Which one of the following statements is wrong?

(1) Laminaria and Sargassum are used as food.

(2) Algae increase the level of dissolved oxygenin

the immediate environment.

(3) Algin is obtained from red algae, and carrageenan

from brown algae.

(4) Agar-agar is obtained from Gelidium. and

Gracilaria.

62. Theterm ‘polyadelphous’is related to

(1) calyx

(3) androecium

63. How many plants among Indigofera, Sesbania, Salvia, | 63.

(2) gynoecium

(4) corolla

Allium, Aloe, mustard, groundnut, radish, gram and|
turnip have stamens with different lengths in their |

flowers?
(1) Six
(3) Four

(2) Three
(4) Five

64. Radial symmetry is found in the flowers of

(1) Cassia
(3) Trifolium

(2) Brassica
(4) Pisum

65. Free-central placentation is found in

(1) Citrus

(3) Argemone

(2) Dianthus

(4) Brassica

58.

6

6

6

65.

1.

2.

8
9.

4.
5

Tad B A |

(1) SrIeq geoeeiid 8 & iR ofa # feee IRd B |

(2) SricH @ FARRT M & eaw B € |

(3) SrICH! HiRIHT BT [T SRICHT BT BIfRTHT— Rl
A BB |

(4) FETFRI H SRICH YW SUES o |

USRI IS & AU H FefeiRad § ¥ AT A
3ifpa =& BIelT ?

(1) 9 & S (2) |UE P IRRG

(3) HUEHAm &I AH (4) IR A

YR UTey gAfaRoT 9l TRA SIS BT Fe HRA B forg
(1) arfEewreit @ SuRerfa 8l &

2) IS HSR TRt B

(3) W AIE WEd &

4) A SU@Er B B

ferforRad & ¥ HIFAT BT TTeld ® 2

1) ARG IR AT @rel & wU # e fhd I 2 |

2) ¥arel 37U AfTdhe FATEROT H gferd Jifailo & Wik
I gerd |

(3) Ve ofTel Sarell | T IR R arali | ured
fopam ST 2 |

4) WIR—TR, foreflfea 3R 9RyeRar 1 ure faar

(
(

ST 8 |
IgHl Ug fhad g 8 ?
(1) deIEeTys (2) SmarT
(3) T (4) &g

SISTIPRT, AV Hicad UlerdH, Yerl, BRI, HIThel,
Hell, =1 AR ereror | ¥ foaet diell & gquai 3§ g al
TS - Bl 2 2

1) ®: 2) &=

(3) @R (4) df=

3R FEAfT fhds goll § ol ot & °?
(1) @Rrr () #rer

(3) grEBiferr (4) g

T 31eTT Ao e Ui 1T & 2
(1) R (2) Srever

() T (4) ot
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66.

67.

68.

69.

70.

.

72,

73.

Cortex is the region found between I
(1) endodermis and vascular bundle |
(2) epidermisand stele |
(3) pericycle and endodermis I
(4) endodermis and pith |
The balloon-shaped structures called tyloses |
(1) arelinked to the ascent of sap through xylem |
vessels |

(2) originate in the lumen of vessels I
(3) characterize the sapwood |
(4) are extensions of xylem parenchyma cellsinto |
vessels |

A non-proteinaceous enzyme is |
(1) deoxyribonuclease (2) lysozyme |
(3) Ribozyme I
|

|

|

|

|

|

|

|

|

|

Select the mismatch.

(4) ligase

(1) Methanogens-Prokaryotes

(2) Gasvacuoles-Green bacteria

(3) Large central vacuoles-Animal cells

(4) Protists-Eukaryotes

Select the wrong statement.

(1) Mycoplasma is a a wall-less microorganism.

(2) Bacterial cell wall is made up of peptidoglycan.cj |

(3) Piliand fimbriae are mainly involved in motility of |
bacterial cells. |

(4) Cyanobacteria lack flagellated cells.

A cell organelle containing hydrolytic enzymes is

(1) mesosome (2) lysosome

(3) microsome (4) ribosome

During cell growth, DNA synthesis takes place in

(1) Mphase (2) S Phase

(3) G, phase (4) G,phase |

Which of the following biomolecules is common to |

respiration-mediated breakdown of fats, carbohydrates |

and proteins? |

(1) Acetyl CoA

2) Glucose-6-phosphate

|
|
( |
(3) Fructose 1,6-bisphosphate I
(4) Pyruvicacid |

|

66.

67.

68.

69.

70.

72,

73.

Jege & fhas a0 & urr o7 © ?
(1) 3raRcadr iR Hagd gvedl

(2) qTEIEET SR

(3) uR¥™ 3R Iravadn

(4) IR SR Hooll

TEARTAT TRAAR, ST TN el &, 9

(1) SIS dIfEHIsl | BIdH) TARIEY A AHSd Bidl &
(2) aIfEHIRA B AAHIRIHT | I Bl &

(3) A HTS Bl ATARIT BT &

(4) aIfEHTS H ST Jgdd PIRIBRA B TAR BRIl &

fa N o aN

frfoRad § 9 S99 U IR WIS a1l USiTgH 872

(1) TSARIRTSAG[FTTS (2) ATSASIGH

(3) NrgdrTEA (4) gt

e g

(1) fReASH-TmEs D

(2) N | -8Ra ST

3) S B A - S BB

@) ufce-RIHD= D!

TAd B g

(1) HATSHICTSH U ART —Ifed Gewrsiia © |

(2) SfarT] HIRTEHT FART TEEraTgDh T @1 &+ Bl 2 |

(3) RHH AR R &I WU I ST PIRABRI DI
wTfcreferdr & fog g1 2

@) R § B BIRTBI BT 3T BT B |

o BRI 3T F STel e YoirgH grar 272

(1) TP (2) TEHT

(3) EHPI (4) rgESIH

DIRTDT gl B SR, DNA BT HReIT0T b HreRear # et 27

(1) M umawer (2) S TR

(3) G, vRen (4) G, waRen

fr=forRad # A BIF-11 99 1] 997 FraEERe R U
% TaH-AIRTT HolA H Hds 87

(1) TAfed CoA

(2) TPTE-6-HIHT

(3) Wacr 1,6-f[damihe

(4) urgHidD 3rFT
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74. Afew drops of sap were collected by cutting across a I 74. TP IUG AT §RT UIGY & T Bl 3RUR BICHR HR

75.

76.

77.

78.

79.

80.

plant stem by a suitable method. The sap was tested |
chemically. Which one of the following test results |
indicates that it is phloem sap? |

@) Acidic |

(4) Lowrefractive index |

(1) Absence of sugar
(3) Alkaline

You are given a tissue with its potential for differentiation | 75.

in an artificial culture. Which of the following pairs of |
hormones would you add to the medium to secure |
shoots as well as roots?

(1) Gibberellin and abscisic acid

(2) IAAand gibberellin

(3) Auxin and cytokinin

(4) Auxin and abscisic acid

Phytochromeis a

(1) chromoprotein (2) flavoprotein
(3) glycoprotein (4) lipoprotein
(1) Mn @) zZn

(3) Fe 4) Ca

The process which makes major difference between | 78.

C,and C, plants is

(1) respiration

|

|

|

|

|

|

|

|

|

Which is essential for the growth of root tip? |
|

|

|

|

|

|

(2) glycolysis |
|

(3) Calvincycle (4) photorespiration

Which one of the following statements is not correct? | 79.

(1) Water hyacinth, growing in the standing water,
drains oxygen from water that leads to the death |
of fishes. |

(2) Offspring produced by the asexual roduction are |
called clone. |

(3) Microscopic, motile asexual reproductive |
structures are called zoospores. I

(4) Inpotato, banana and ginger, the plantlets arise |
from the internodes present in the modified stem. |

Which one of the following in&generates new genetic| gg.

combinations leading to variation? |
(1) Nucellar polyembryony

2
3
(

Vegetative reproduction

4

|
|
) |
) Parthenogenesis |
) Sexual reproduction I

|

|

DI O < THET DI AT | IF BT ITAR-ID qRIeor fhar
T | friferRad # &1 i |1 aRvme I8 S9ReT o
ToATgH X 2?

(1) = 1 orquRerfa (2) o

(@) e (@) Pt sockries

YD b P A1eqd § A9 P & el Ub el
o T | IRIST 3R STt ST Bl U BR & Y 31y
AT A At # 9 BHET & b g™ &I Femi |
(1) FraRferT o fsafia s

(2) *MFOY0T0 3R frerfer

(3) iffaa ik AgerHEA

(4) Sifda aik Ufearie o

TEYquidh RIT 2 |

(1) HEECEH (2) waUIEH

(3) TeEBIUEA (4) <mgEEE

Tt &1 gfg & forg fr=aferRed 3 & Si=-41 amawas 2 |
(1) Mn 2) Zn

(3) Fe (4) Ca

forIferRaT o 31 98 SI=-A1 ufshar 8, S C, 3iR C, ureai
& 99 = w9 fadg el 2?

(1) zaad (2) TelgPIeTSRE

(3) dfeas am (4) THTI TaEH
faforRad & & H1F-91 P e T 2|

(1) & §T TTeT 4 ST §s STel SRR STel ¥ ST
Gia orcll @ Ry weforan & 97 &1 Wil 2 |

(2) 3rifd IS §RT ST HATT BT FeAl BHET Sl 2 |

(3) &R, =et 3Tl USiH WReAR aa dISiTo]

HEAT 2 |

(4) 3T, el IR &P H UIGUD, WURT d 7 IR
gl W Il B 2 |

frrferRaa o & SI=-a1 faffesr o arel 1 Irgaes

AT DT Icuel DRl 272
1

SININSEINEACEC UG

(1)

(2) BI® A
(3) 3G
@) <ifvre SH=
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81.

82,

83.

84.

85.

86.

87.

4) (i) (i) (@v) (i)

In majority of angiosperms

(1) asmall central cell is present in the embryo sac:
) egg has a filiform apparatus

Match Column-l with Column-ll and select the correct I 81.
option using the codes given below : |
Column-| Column-li |
a. Pistilsfusedtogether (i) Gametogenesis |
Formation of gametes (i) Pistillate I
c. Hyphae of higher (iii) Syncarpous |
Ascomycetes |
d. Unisexual female flower (iv) Dikaryotic I
Codes: |
a b ¢ d I
(1) (i) @ () (i) |
@ @) (Gi) @) G |
@ @ O 0 I
( |
| 82,
I
|
|

(2

(3) there are numerous antipodal cells

(4) reduction division occurs in the megaspore mother |
cells |

Pollination in water hyacinth and water lily is brought | 83.

about by the agency of
(1) bats

|
(2) water |
(3) insects or wind |

(4) birds

The ovule of an angiosperm is technically equivalent to | 84.

(1) megaspore (2) megasporangium |

(3) megasporophyll (4) megaspore mother cell |

Taylor conducted the experiments to prove| 85.

semiconservative mode of chromosome replication on |
(1) E. coli
(3) Vida faba

(2) Vincarosea |
(4) Drosophila melanogaster |

The mechanism that causes a gene to move from one | 86.

linkage group to another is called |
(1) Corossing-over (2) inversion

(3) duplication (4) translocation

plantis
(1) recon (2) muton
(3) cistron (4) operon

|
|
|
The equivalent of a structural gene is A true breeding | 87.
|
|
|
|

Hicrd-1 BT Died-Il I FAferd SIS qr = 3 T

He B YANT HR ALl fdbed ol g
Bic-l BicrH-ll

a. oMU ¥ S VoW (i) FHBOA

b. JHDI BT T (i) SHrpa

o o

C. 3TdN Uh[HIgRICT

(iiii) arTosdl
P HIP ad

(iv) g

@ @ (i) (v) (i)

HpIeT ATgaroil urear o

(1) 4O1 DY ¥ U &g Ds1g PIRABT Bl & |

(2) @ H IgHY WA BT B |

(3) ¥ga- W Ul RS Bl 2 |

(4) TSN TS, THASIY] ARG SIS H BT 2 |
STeT BTN 3R STel Hyfal § URITOT fbdAs gRT BIal
87

(1) =wmes (@) ST

(3) dIc A1 YA (4) el

AT UTGUT BT JISITUS AP B0 H [Hdd THbE
Il &7

(1) e (2) TSI

(3) TwEISITITOf (4) TR A DITRADT
TR A fordt g TR TOREE URIpiaee @ srged) fafty &1
JHIOTT R & oY YANT & forg W fabar o ?

(1) =0 rag (2) et Afva

(3) faRrar tar (4) SrIfhell HATRRER

39 fhanfafer &1 e SR Ud S &1 FEa=IdT G98
A TR FESAUAT g DI AT ST & FAT Bgl Sl 27

(1) SiA-fafa (2) gl

(3) feor (4) AR
fA=feRaa 7 9 B9 SRS 9 & 99 2 |
(1) g (2) sg

(3) |HUR 4) vETe®
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88.

89.

90.

91.

92.

93.

A true breeding plant is I

(1) Always homozygous recessive in its genetic |
constitution |

(2) One that is able to bred on its own |

(3) Produced due to cross pollination among unrelated |
plants |

(4) near homozygous and produces offsspiring of its I
kind

|
Which of the following rRNAs acts as structural RNA | 89.

as well as ribozyme in bacterial

(1) 5-8srRNA

(2) 5SrRNA

(3) 18 SrRNA

(4) 23SrRNA

Stirred-tank bioreactors have been designed for

(1) ensuring anaerobic conditions in the culture vessel

(2) purification of product

(4) ailability of oxygen throughout the process

A molecule that can act as a genetic material must
fulfill the traits given, except

(1) itshould provide the scope for slow changes that
are required for evolution

(2) it should be able to express itself in the form of

|
|
|
|
|
|
|
|
|
|
(3) addition of preservatives to the product I
|
|
|
|
|
|
|
|
‘Mendelian characters’ I
|

(3) it should be able to generate its replica

(4) itshould be unstable structurally and chemicpally |

DNA- dependent RNA polymerase catalyzes|92_

transcription on the strand of the DNA which is called |

the

(1) antistrand (2) template strand

(38) coding strand (4) alpha strand

Interespecific hybridization in the mating of

(1) more closely related individuals within same breed
for 4-6 generations

(2) animals within same breed without having common

ancestors
(3) two different related species
(4) superior males and females of different breeds

88. U® gD Yo UIey I8 8, Sl b

(1) 3O TARIE TS F THIA AHATT AT T

(2) 3MUH MY Yo HR AD

(3) HNE UIRUl & 49 TR — IRETVT & I b 7 &1
(4) T AT BT IR ST ARE ol AT el HraT &l

oty 3 fAeferRad 7 1 BIF-a1 rRNAs TReTHS RNA
3R TSI, TET BT ARE B HRAT B2

) 5-:8srRNA

5S rRNA

) 18 STRNA

(4) 23STrRNA

fadtifed <o Sla Ryaex {5« forg sridfeud B T 57
(1) YA Aferdt # FAaRIERT SR B 991 7@ & forg
(2) SRl & YRGB & forg

(3) SaTel # yRRerdt B ™ & forw

(4) AR TfehaT & SR MRAST Bl IRt 9911 IG @ forg

oY a19] #, ST SNgaRIe UaTel & WU H 1 PR Fba g,
T e W feu feve & sifaRed, =1 it faeivs
JIeY B A1 ?

(1) 3o fae™ & forg smawas A uRadHl & forg
AR BAT AN

(2) SH HSAlI TN b Y H W DI AfATTT HRA
ARG BT A1

(3) TN U URIFT IT~ FRA AT BT =12

(4) T EREEIHS U W AR RIS B9 3 AIRR BT
A

DNA- 3enRa RNA Uifervst DNA @& ¥ Udh I5gd 1R

TG BT IAURTT FRAT &7

(1) vfcReg® (2) Trele Yo gd

(3) drs Xogd (4) Vel I5b
TR FHrvr # fods §a THRTH SRET ST ©
(1) 4-60ifeai d% THh &1 X dTet TAT Aolaldh 3 AR

el & 9=

(2) THE Yol 7 B gU Wl U B A b i3l b dra
(3) I ITIT—3TelT FArIfd Wefieil & 4=

@) ffr= I%al 9Tt dgdR RI deAT AIGRl & 9™

~

(1
2
@3
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94,

95.

96.

Which of the following is correct regarding AIDSI 94. AIDS @ IFToH® HRG HIV & IR # f=falRaa # &

causative HIV?

|
(1) HIV does not escape but attacks the acquired |
immune response. |

(2) HIV is enveloped virus containing one molecule of |

single-stranded RNA and one molecule of reverse |
transcriptase. |

(3) HIVisenveloped virus that contains two identical |

molecules of single-stranded RNA and tow |
molecules of reverse transcriptase. I
(4) HIV is unenveloped retrovirus. |

Among the following edible fishes, which one is a| 95.

marine fish having rich source of omega-3 fatty acids? |
(1) Mackerel (2) Mystus |

|
(3) Mangur (4) Mrigala |

Match Column-I with Column-Il and select the correct | 96.

option using the codes given below: |

Column-l Column-li

a.
b.

C.

Citric acid
Cyclosporin A
Statins

(i) Trichoderma

i) Clostridium

97.

98.

(
(iii) Aspergillus
d. Butyric (
Code:
a b
i)

iv) Monascus

d
(ii)
i) (v
(

(1]

1) (i) (
2) (i) (i)
3) (i) @) (@v) (i)
4) () (v) (i) (i)

Biochemical Oxygen Demand (BOD) may not be good

index for pollution for water bodies receiving effluents
from

iv)

i)
i

~

(
(
(
(

—_~ = ~

(1) sugarindustry (2) domestic sewage

(3) dairy industry (4) petroleum industry
The principle of competitive exclusion was stated by
(1) Verhulst and Pearl

(2) C.Darwin

(3) G. F. Gause

(

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
4) MacArthur I
|
|

97.

98.

DI —4T FE 87

(1) HIV reR F&1 et urar wR SuTfold uforel srgfehar
TR JAMEHHIT HT 2 |

(2) HIV T A1gd e &, forre WioR Tl o9 dTel

RNA &T Tah 1] 3R IhA idshcsl Bl T 377
BT 2 |

(3) HIV T 1gd a1ex &, forges Wik Tehel o9 dTed
RNA @& &7 |4 {7 T SGHA SIS & al 377
A T |

(4) HIV T& 3FTgd U9 a1Evd ¢ |

fFrfoRad w@re Foferdl # | a8 S T 98l &,

S 3THATT-3 99T 3Tl bl Sca¥ Hld 27
(1) #aRaA (2) firew
(3) AR (4) forret
PHiet -1 3R BieH-Il & 9 A= B qen A A
HE B YANT HR Ae! fdbed ol g
Dl DictH-ll
a. Rfg®d et (i) crSdreHt
b. WSFARUIRT A (i) FRefemm
c. wfed (iii) VRS
d. gReRe et (iv) AR
T

a b ¢ d

(1 (i) (v @ (i)
() (i) @) @) ()
(3 (i) (@) (v) (i)
@ O v (i) (i)

Fr=TfeTRad 4 1 frras af=amal & BIROT UguoT §i arel
—frat 3 Sig IS RIS A4RT (BOD) UgoT

& foIg o aresT qas T8 87

(1) BT ST (2) =Y arfed dat
(3) g aifed HaA (4) ugiferam e
et =T & e @1 ufaures fe fosar en?
(1) ageRe AR el

() <. =ifdq

(3) . Uw. A

@) e
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99. Which of the following National Parks is home to the | 99.  f=eaTa BRI T 31eraT 8 feAfeRad Iy Serm o

100.

101.

102.

103.

104.

famous musk deer or hangul?

(1) Dachigam National Park, jammu & Kashmir

(2) Keibul Lamjao National Park, Manipur

(3) Bandhavgrah National Park, Madhya Pradesh
(4) Eaglenest Wildlife Sanctuary, Arunachal Pradesh
A lake which is rich in organic waste may result in

(1) mortality of fish due to lack of oxygen
(2) increased population of aquatic organisms due to |

minerals |
(3) drying of the lake due to algal bloom |
(4) increased population of fish due to lots of nutrients |

The highest DDT concentration in aquatic food chain I 101.

shall occur in |
(1) eel (2) phytoplankton |
(3) seagull (4) crab |
Which of the following sets of diseases is caused by | 10
bacteria? |
(1) Herpes and influenza I
(2) Cholera and tetanus |
(3) Typhoid and smallpox |

|

(4) Tetanus and mumps

Match Column-I with Column-Il for housefly| 103.

classification and select the correct option using the |
codes given below : |

(1) All Pisces have gills covered by an operculum.
(2) Allmammals are viviparous.
(3)

All cyclostomes do not possess jaws and paired
fins.

Column-l Column-li |

a. Family () Diptera |
b. Order (i) Arthropoda I
c. Clsass (i) Muscidae |
d. Phylum (iv) Insecta |
Codes: |
a b ¢ d |
M ) @) 6 i) |
@ ) O ® :
3) (i) (i) @v) @) |
@) (v) (i) (i) @) |
Choose the correct statement |
|

|

|

|

|

|

(4) Allreptiles have a three-chambered heart.

W HE[ 9T ST 82

(1) SEINTH I I, T IR HIHR

(2) B ATHASIRAT I I, AR

(3) THIATE LR I, AL UGS

4) FTTARE TSI IRV, [V U9

0. HETd R | w9 fell et 5 a7 81 |hlT 27
(1) SRS B BH & HRYT AT BT AR ST
(2) TSI & SR STl Sial @ |JEfte H§ gig

(3) RATA—HTT B HRYT S BT G& ST

(4) TP UIve YTl & BRI HSfordl B e H gig
STl WIel—3jell # ffidhas DDT @l Higar few grf?
(1) sa (2) URUwAdH

(3) wHY et (4) el

2. I &1 FEfaRed § F SH-a1 9g SharRt g’
Hh AT BT ©

(1) BURT 3R ST

(2) o 3R feea

(3) TIEWISS 3R TaH i

(4) fecw9 3iR Taga
TG AFE! & x0T & oIy Pied-1 3R dies-1l |
A SR Torr T {3 TR e &1 TN R Fel [dded

E:

DicH- Die-l
a. HA (B (i) foe=r
b. ToT (3ifR) (ii) 3miiarer
c. I (FT) (iii) AR=TS
d. 99 (Frgam) (v) ST
$T :
a b ¢ d
(1) Gv) (i) @) (i)
) (i) @ Gv) (i)
@) (i) (i) @v) (@)
@) (v) (i) (i) (@)
|E BT g |
1) ) Aefoal § oo yees ¥ <& Y B 3 |
2) <t TaEm Aoliausia @ |
3) W ASFARCHl H Sias AT JRAT Ug T B © |
)
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105. Study the four statements (A- D) given below and select I 105. <10 fed T AR AT (A - D) BT 0T DI 3R 4

106.

107.

108.

109.

the two correct ones out of them : |

A. Definition of biological species was given by Ernst I

Mayr.
B. Photoperiod does not affect reproduction in plants.
C. Binomial nomenclature system was given by

R. H. Whittaker.
D. Inunicellular organisms, reproduction is

synonymous with growth.
The two correct statements are
(1) AandB (2) BandC
(3) CandD (4) AandD

In male cockroaches, sperms are stored in which part

of the reproductive system?
(1) Vasdeferens (2) Seminal vesicles
(3) Mushroom glands
Smooth muscles are
(1) voluntary, spindle-shaped, uninucleate
(2) involuntary, fusiform, non-striated
(3) voluntary, multinucleate, cylindrical
(4) involuntary, cylindrical, striated
Oxidative phosphorylation is

1

formation of ATP energy released from electrons
removed during substrate oxidation
(2) formation of ATP by transfer of phosphate group

from a substrate to ADP.
3)
4)

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
(4) Testes |
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
oxidation of phosphate group in ATP |
|

addition of phosphate group to ATP |

106

107

108

Which of the following is the least likely to be involved | 109.

in stabilizing the three-dimensional folding of most
proteins?

(1) Ester bonds

(
(3) Electrostatic interaction
(

|
|
2) Hydrogen bonds I
|
4) Hydrophobic interaction I

|

J 31 FE Bl BT g

A, g el @ aRETST SRS WRR T < ot |
B. USRS BT Ul & T W JHIT T8I Tl 2 |
C. fgo™ Amugfa 9= 3R, va. faeax A faar o
D. UGHIRIG Sial # o iR gfg e 8 2 |
31 HE B ¢ |

(1) A3IRB 2) BaiRC

(3) C3iRD 4) A3RD

TR feraee # YEp1Y) Sas @ b 91T | HeIRa &
87

(1) gpared

(3) #IReH Ui
fRrep=f U el 2 |

Ve, Tahol, Thasdd

Ie®, dghaY, INREd

VD, Tgh I, deATDR

3Mfed, JThIR, IRad

~ o

Jferirefed BRmIRee 8idr &

(1)

fohaTRIR & JTRINBRUT B SR Sorae [ & 3T b
S | S~ $Holl gRT ATP &7 fasfor

U IR I ADP dd B dFf & AR gRT
ATP &1 faHTor

(3) ATP ¥ ®i¥he aif &I ifairaor

(4) BiEbe T BT ATP H S ST

rfermTer WS & A gem a1 Rer e # fforlRaa
# 9 fra®! 9gd HF WWIEET 87

2)

(1) TR rdy

(2) BIgRIOH 3T

(3) Rerdem uRwRe sifafmar
@) wTenfie TRERE iR
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110. Which of the following describes the given graph : 110. f=faRad § | d9—a1 3 UT% BT [T quid HRar 87

correctly? |

Potential gybstrate

Energy

Product

Reaction ——>

(1) Exothermic reaction with energy Ain absence of
enzyme and B in presence of enzyme

(2) Endothermic reaction with energy Ain presence

of enzyme and B in absence of enzyme

(3) Exothermic reaction with energy A in presence of
enzyme and B in absence of enzyme

(4) Endothermic reaction with energy Ain absence of
enzyme and B in presence of enzyme.
111. When cell has stalled DNA replication fork, which: 111.
checkpoint should be predominantly activated? |
(1) BothG,/MandM (2) G,/S |
3) G/M 4 M |
112. Match the stages of meiosis in Column-I to their| 112.

characteristic features in Column-ll and select the |
correct option using the codes given below : |

fava ot

(1) Soit A A1 TSl &1 AU 7 3R B & A1T
TSTSH @ SURART H qrerssh ifdfshar

(2) Sl A AT ToTgH &) SURAfY # iR B USgH o
JURATT ¥ SIS AfAfehar

(3) ol AD AT UolisH @ YR # iR B UoigH &
JgUReIfcr # qrerey sl i

(4) oI AD AT GSITsH B JuRfT H 3iik B & 1o
TOITgH @1 SURART # faRe s arfaforar

Sd PIRreRT # DNA iR fgeme we o 2, 99 fa

Sia—fag @ vl ¥ | |fBRIT B @nfd?

(1) G/MIRMTHT  (2) G,/S

3) G/M 4 M

Bicm-1 &1 T el fTe a1 faf=T sra=ermail &t

Bfed-ll # 37 T 39 fAffve deron & A fam

BIST TAT 1<l f&F T de BT TN R Fel [adhey Bl

Column-l Column-lIi | 9
a. Pachytene (i) Pairing of homologous |
chromosomes | Column-l Column-Il
b. Metaphase | (i) Terminalization of | a. W () SIS ORGAT BT Y
chiasmata - | b. HCTHS | (FeATReAl-1) (i) HISUSHST BT FHIUA
c. Diakinesis (i) Grossing-over takes I C. SRR (iii) <h=1 fafr = grar @
place | d. wTEmER (v) ORE Hegadt ged) W
d. Zygotenev (v) Chromosomes align at | Rerd 1 o 2
equatorial plate |
Codes: | ®c
a b ¢ d | a b ¢ d
(1) @) (i) (i) () | (1) @) (i) (i) (@)
() (i) (v) (i) () | (2) (i) (v) (i) ()
@) @ @) @) (i) : @) () ) @) (i)
@ @ @ 0 L@ G O
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113. Which hormones do stimulate the production of | 113. @9 & &4 3= ¥ SR AFHEIIC b TG Dbl

pancreatic juice and bicarbonate?

!
|
|
(1) Insulin and glucagon |
(2) Angiotensin and epinephrine |
(3) Gastrinand insulin I
(4) Cholecystokinin and secretin |
114. The partial pressure of oxygen in the alveoli of the lungs |
is
(1) lessthan that of carbon dioxide
(2) equal to that in the blood
(3) more than that in the blood
(4) less than that in the blood
115. Choose the correct statement.

(1) Receptors do not produce graded potentials.

2) Nociceptors respond to changes in pressure.

|
|
|
|
|
|
|
< |
(3) Meissner’s corpuscles are thermoreceptors. |
(4) Photoreceptors in the human eye are depolarized :
during darkness and become hyperpolarized in |

response to the light stimulus. |

116. Graves’ disease is caused due to |
(1) hypersecretion of adrenal gland |

(2) hyposecretion of thyroid gland :

(3) hypersecretion of thyroid gland |

(4) hyposecretion of adrenal gland |

117. Name the ion responsible for unmasking of active sites |
for myosin for cross-bridge activity during muscle |
contraction. |

(1) Potassium (2) Calcium I
(3) Magnesium (4) Sodium |

118. Name the blood cells, whose reduction in number can |
cause clotting disorder, leading to excessive loss of|
blood from the body. |

(1) Thrombocytes (2) Erythrocytes |

(3) Leucocytes (4) Neutrophils |

119. Name a peptide hormone which acts mainly onI
hepatocytes, adipocytes and enhances cellular glucose |
uptake and utilization. |

(1) Gastrin (2) Insulin |

(3) Glucagon (4) Secretin I

|

114.
115.
116

17.
118.

119.

IgIfUT & © ?

(1) SgfeM 3R T

2) SRR 3R Tmflha
3) IRgH iR ggfor

4) DRRCIBIZMAT 3R AbfeH

BHS! B BB # Sffaisr &Y 31 <19 el §

(1) HET STSRIfFATSS & TS <19 | HH

(2) SRR # AR B IMRH TG B IR

(3) SRR H 3ifaRioT & 31fird q19 | Afdrd

4) SRR ¥ ARoE o ANRTe 9 A FH

|qE HAF A

1) Y HfFS fava S & B B |

2) AIRRYeR a9 § gRacdi & Ul agfehar ad B |

3) Ho™R BOBRI ATIITEY B |

4) A9 93§ UHRETE 3R H fAgfad 8 9 2 3R
YHTe & AT H1 argfshar # arfagfad g 2|

~

~

(
(
(
(

. s T BT BRI Bl &

(1) TS Uy a1 sifererau

(2) omeRigS R BT SR

(3) emgRigs UMY @ arfaeraur

4) Vs T BT reaEAgur

TRl Heped & SR pra—fe fhar & forg Arfe @
AfohT Terell BT IUR &R B forv SRR e &7 A
ERIERE

(1) dreRrm (2) dferraa

(3) H=IRREM @) wfsTw

I R IR & M Idrgd, e e § 9 e

TR ®ER FhT UfshaT H Ted< 8 9hdl 7, 3R oras
BRI IR A BB BOR 98 Fhdl ¢ |

(1) fdary @rrage)  (2) oy @RumEe)

(3) A (PIIEE) (4) SHIRSH (JSITthel)

I YUCIgS B BT 4 qd15d Sl YeITd: AhaTogail
(FUTCTATSE) 3IR a=Topsl (TFEUrATSel) IR U9Td STerl @
TAT PIRTHT §RT DI B AT T IHD IUANT DI
JTaT T B |

(1) Rg (2) =gfer

(3) bt 4) wsfes
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120. Osteoporosis, an age related disease of skeletal system | 120. RGRRAT, ST HebTel BT U AY—A=H T 2, fbas

121.

122.

123.

, may occur due to

(1) accumulation of uric acid leading to inflammation
of joints

immune disorder affecting neuromuscular junction
leading to fatigue

(3) high concentration of Ca™ and Na*

(4) decreased level of estrogen

Serum differs from blood in

™

@)

lacking antibodies

(2) lacking globulins
(3) lacking albumins
(4) lacking clotting factors

Lungs do not collapse between breaths and some air
always remains in the lungs which can never be
expelled because

(1) pressure in the lungs is higher than the
atmospheric pressure

@)
3)

there is a negative pressure in the lungs
there is a negative intrapleural pressure pulling at
the lung walls

)

there is a positive intrapleural pressure

121

|
The posterior pituitary gland is not a ‘true’ endocrine | 123.

gland because
(1) it secretes enzymes
(2) itisprovided with a duct
3)
4

) itis under the regulation of hypothalamus

it only stores and releases hormones

124. The part of nephron involved in active reabsorption of | 124,

125.

sodium is
1
2
3)
(4)
Which of the following is hormonereleasing IlUD?
(1) Cur

(2) LNG-20

(3) Multilpad 375

(4) Lippesloop

descending limb of Henle’s loop
distal convoluted tubule
proximal convoluted tubule

Bowman'’s capsule

|
|
|
|
|
|
I 125.
|
|
|
|
|

PRI B Hhall & 7

(1) IN® e BT YHABRY, fSD BRI SIS Gl 9 & |

2) dferenT—faem, S AR Siges 1R T STerdT &,

RTI® BRI BT B 2 |

(3) Ca++3iR Na+ & I=a dAidl

@) TEINE B WX H HH

WA wfR 3 e grar 8, w=iifs

(1) S gfafave =8 g

2) S TAgfe T B

3) SHH VeI T8 B

4) THH Whad HRS 78l 8l

A o & 1 Bwe fRue T8 91 iR o E—agd gar

Bl | AT 941 Xgdl & O 918” Nhrett 81 S et

Fifp

(1) BHSl & IR P TE, AYHSA BT I1d A AT Bl

gl

2) wwel & 9 FOTHD <9 B B |

(3) FUMHS ST RIH T1@ BRIl 2 Sl hbel & ARl

BT UH IR A X Gracl & 2|

(4) TS JITHIRH <19 BNl 2 |

ueg feged W arafas’ siaemd Uy T8 Bl 7,

RIifh

(1) I USIgHl &7 ST Bl &

(2) sES! Uh e Bl §

(3) g Bl B BT HSIRT BT § 3R F=prRyd
HAT 2 |

@) uE TN & AT & Sl Bl § |

I BT g8 AT, ST AISTH & WAfshy JA-7G2T0T BT BRI
IRAT S, B

(1) Tl UGSl BT AR UG

(2) SR Haford AAferaT

3)
(4) @ HYe

f=faRad § & d—w1 eid=—fta® IUD 81T & ?
(1) cu7

(2) LNG-20

(3) #Helrars 375

(4) foro ATy

ey Hafera Aferad
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126. Which of the following is incorrect .regarding' 126. W‘cﬁ —IWed & IR H

127.

128.

129.

130.

vasectomy?

(1) lrreversible sterility

(2) No sperm occurs in seminal fluid
(3) No sperm occurs in epididymis
(4) Vasadeferentiais cut and tied

Embryo with more than 16 blastomeres formed due to
in vitro fertilization is transferred into

(1) cervix (2) uterus

(3) fallopiantube (4) fimbriae

Which of the following depicts the correct pathway of 128

transport of sperms?

(1) Efferent ductules —— Rete testis ——

Vas deferens —— Epididymis

(2) Rete testis —— Efferent ductules ——
Epididymis —— Vas deferens

(38) Rete testis —— Epididymis ——
Efferent ductules —— Vas deferens

(4) Rete testis —— Vas deferens ——

Efferent ductules —— Epididymis

Match Column-l with Column-ll and select the correct
option using the codes given below :

Column- Column-li
a. Mons pubis i) Embryo formation
b. Antrum ii) Sperm

c. Trophectoderm
d. Nebenkern

iii) Female external genitalia
iv) Graafian follicle

o~ o~ o~ o~

Codes:

a b ¢ d
(1) @ G@v) (i) (i)
(2) (i) (v) (i) ()
3) (v) (@) (i)
( i G .

Several hormones like hCG, hPL, estrogen.
progesterone are produced by

(1) pituitary
(2) ovary
(3) placenta
(

4) fallopian tube

forRaa # ¥ ST TTerd &
(1) rgehaviia degar

(2) 9w # gepTo] T BN

(3) USRS # gpro] €l &l

(4) YHATEd Bl IR arY fIar Sar &

7. 9= v g1 (Afd 16 9 o1t ReES! (RIRSIRR)

el YOT BT WEART &R a1 Srar 83—
(1) Hrar 4 (2) e &
(3) el Tefl # (4) wmeR o

. 9 9 -1 YHIvpe & uRdsT & U Bl FEl Wy
RICKICIN

(1) SUare! arfeferd —— guor Sirferdl ——
YehaTEd —> TUISISART

(2) gy SAfTdT ——> JAUarE! arfefey —
vl —— gharesd

(3) gyt Sirfert —— vhufSfeia ——

JAUATE! AT ——> YHaEd

(4) 9T SAIfThT — Yehdied —>

JUATE! difeer —— Ufufefe
Bt -I 3R Bict -IT & §rd e PR aen e
mﬁ He BT AN IR Ael fddbed Bl i ¢
DicH- Die-l
a. Al fe¥ (i) o1 g
b. TR (i) 1o
c. TIhdereH (iiii) ATGT 9T SR
d. Favhe (iv) ATH geb
Be :
a b ¢ d
(1) @ Gv) (i) (i)
(2) (i) (v) (i) (@)
@) (i) (v) @) (i)
@) (i) @) (v) (i)

. ®9 &M, 3 hCG, hPL, TRZINH, HIoReRH Bl S~

Bl

BB ?

(1) foeged ufr
2) sierEm
!
(

)
) STRT
4)
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131. If a colour-blind man marries a woman who isI 131. Wavﬁuwwﬁ?ﬁﬁﬁ fJqre Hxdr 8, S gH=g T

132.

133.

homozygous for normal colour vision, the probability of |
their son being colour-blind is

1 1 @ 0
3 05 (4) 0.75
Genetic drift operates in

1
2
3)
(4)
In Hardy-Weinberg equation, the frequency of|
heterozygous individual is represented by |

1) & @ P |

(3) 2pq @) rq :

small isolated population

|

|

|

|

|

slow reproductive population I
|

large isolated population |
|

non-reproductive population

132.

133.

gftc & o Fag™oN & | S Y3 & duiel 8I &l HTa-T
CR IR

(1) 1 @) 0

(3) 05 @) 0.75
aRI faae (sruaTs) Fef 8rdr 87
(1) ¥ 9 ¥ A FAfE

(2) B faafia e

(3) 9 faafa gafe

(4) SIS wHite

BreI—aTsaT FHIGRYT ¥ fawagmel @ifte &1 urfiar &1
freToT fey g & ?

1)
3) 2pq

2 p°
@) pq

134. The chronological order of human evolution from early | 134. 3TIHTG ¥ JRIFT AT TP AT (BT BT BT D

to the recent is |

(1) Australopithecus —— Homo habilis ——
Ramapithecus —— Homo erectus

(2) AustraloPithecus —— Ramapithecus ——

Homo habilis —— Homo erectus

(3) Ramapithecus —— Australopithecus ——

Homo habilis —— Homo erectus

(4)

Ramapithecus —— Homo habilis ——

Australopithecus —— Homo erectus

135. Which of the following is the correct sequence of events | 135.

in the origin of life?

Il.  Synthesis of organic monomers

lll. Synthesis of organic polymers

IV. Formation of DNA-based genetic systems
Codes:

a b c d
() T P | [ Ay A VAR
@ nom oV
@ L owmon v
@ unomo1 NV

|
|
|
|
|
|
|
|
|
|
|
|
|
|
I.  Formation of protobionts I
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

B i

(1) SrEgged —— M efdfey ——
EIYIHH — BT Svacd

2) JiAIHET —— THIURHT ——
Bl Bfdfors —— BMI gvaed

(3) IYEE —— g afusT —
gl 2fafer —— Ml Racw

@) ENYEE —— BMI sfdferd ——
L AMIARH — BT SNaH

frferRad # 1 ST Sitae @) IRl # geRll & Ha

SREL-T

. amfasidT 1 feHfor

.

p

6 AR BT HZAY

A

p

C
§
lll. I~ TTeiTERT BT FIuo]

IV. DNA-WR 3ATeTRd MafRies qa &1

A

®e

a b c¢c d
(N n,oomov,
@ nom v
@ Lomon v
@ nom i1 v
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137. A linear aperture whose width is 0.02 cm is placed, 137.

138.

139.

140.

[_PHYS(CS |

136. A person can see clearly object only when they lie| 136. Tes fth U 3i | ddet 50 cm T2 400 cm Y & d

between 50 cm and 400 cm from his eyes. In order to
increase the maximum distance of distinct vision to
infinity, the type and power of the correcting lens, the
person has to use, will be :

(1) convex, +0.15 diopter
(2) convex, +2.25 diopter
(3) concave, —0.25 diopter

|
|
|
|
|
|
|
(4) concave, —0.2 diopter |
|
immediately in front of a lens of focal length 60 cm. |
The aperture is illuminated normally by a parallel beam |
of wavelength 5 x 107 cm. The distance of the first|
dark band of the diffraction pattern from the centre of |
the screen is : |

(1) 0.15cm |

(2) 0.10cm |
(3) 0.25cm (4) 0.20cm |

Electrons of mass m with de-Broglie wavelength A fall | 138.

on the target in an X-ray tube. The cutoff wavelength |
(1) of the emitted X-ray is

|

2mc)? |

(1) A,=2 @ 2= |
|

_2h _2m*c’ |

®) 0= @ o=z |

Photons with energy 5 eV are incident on a cathode C | 139.

in a photoelectric cell. The maximum energy of emitted |
photoelectrons is 2 eV. When photons of energy 6eV
are incident on C, no photoelectrons will reach the |
anode A, if the stopping potential of Arelativeto Cis: |

(1) =3V (2) +3V |

(3) +4V (4) -1V I

If an electron in a hydrogen atom jumps from the 3rd| 440

orbit to the 2nd orbit, it emits a photon of wavelength. |

When it jumps from the 4th orbit to the 3rd orbit, the |
corresponding wavelength of the photon will be : |

|

20 16
() 3 @ St l
|

9 20
@ 15> @ S I
|

TReITT TR T U < el & | YU S B AP
N PI I AP PR D ol IF Afh Bl fdhd ThR & AR
fora 2Ifth & eI of @) amaeardsar anfl ?

) S, +0.15 SRR

e, +2.25 SRIER

) 31add], —0.25 STeX

~

(1
2
3

(4) 3fadd, —0.2 SHIex

0.02 cm 9TSTE & U I §RS Bl 60 cm BIhd G &
fodt o9 & fawe A @ T | ERG B
5x 107° cm TR & UBTT B FHIRIR fHROGS §RT
A USRI far T g | o faad= Ut & ueH

I S8 DI U D % d Gl BT |
(1) 0.15cm (2) 0.10cm
(3) 0.25cm (4) 0.20cm

o X-fpxor Aferer & @16 U A S—sivell diiTaed qor

m ST & SoIdeid edhRd 8 | Scarid X-fexor &

AT (3fcTe) TR (Ay) BT AT BT |

(1) Ag=2 @) x0=2m:Xz
2h 2.2~ 3

3) ho= ) }L0=2mh_c2:k

Pl gpRIfAE A & Deils (M) CWR 5eV ol &
BICH Aafad 8l 2 | Safid UbIRId goldeidl bl
e TfersT Hoti 2 eV 2 | 6 eV Huoll & Bl & C W
JMUfAd 8 WR BT | UBIRIEG goldei= UAre (U981 ATdh
&I ugenT, I C & AveT AdT FRERN fawa &1 |

(1) -3V (2) +3V

(3) +4V @) -1V

e BTSgIo WRATY] § W9 U Solagia g el &
fgfra wem § AHAU HRar 7, T A dRTQed DI IS

I BIAT © | AT Selde = aqged well ¥ g Helr d
THHT BN, AT BISi Pl T dRITeed 8T |

20 16
(1) EX 2) Ek
9 20
@ 15" @ =
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141. The half-life of a radioactive substance is 30 minutes. | 141. &1 T AfFa uarel @7 srf—smy 30 fAFe = | s

142

143.

!
|
The time (in minutes) taken between 40% decay and |
85% decay of the same radioactive substance is: |
|
|

(1) 60 ) 15
(3) 30 @) 45 |

For CE transistor amplifier, the audio signal voltage across | 142.

the collector resistance of 2 kQ is 4V. If the current
amplification factor of the transistor is 100 and the base

resistance is 1 kQ, then the input signal voltage is :
(1) 15mv 2) 10mVv

(3) 20mVv 4) 30mV

The given circuit has two ideal diodes connected as | 4

shown in the figure below. The current flowing through
the resistance R, will be :

2Q
—WW
Ry

10V -

(1) 3.13A (2) 2.5A
(3) 10.0A @) 1.43A

What is the output Y in the following circuit, when all
the three inputs A, B, C are first 0 and then 1 ?

P )
L

3 v

145.

1) 1,1
3) 0,0

) 0,1

|
|
|
|
|
|
|
|
|
|
|
|
|
T
|
|
|
|
|
|
|
|
|
|
|
4 1,0 :

43.
44,

O w>

Planck’s constant (h), speed of light in vacuum (c) and | 445

Newton’s gravitational constant (G) are three
fundamental constants. Which of the foIIowing|
combinations of these has dimension of length?

Gce vhG
(1) h3/2 @) c3/2
vhG hc
® & @ 5

fearafsha uared & 40% &9 & 85% Td & B |
g (fAeet #) 8 |

(1) 60 ) 15

(3) 30 @) 45

fail CE TifSex yaes # wured uferig 2kQ 2 | 560
RN & dra 510 dava (3iTfear Rrer) dieedr 4V 2 | afe
SITRER T 4RT Yaeies oTics 100 T=AT IR FfRE 1 kQ
?, A (991 & dleedr &1 A9 8T |

(1) 15mV ) 10mV
(3) 20mV 4) 30mV

<1 arreet sETet B uRuer # | Rl s # Twly ™
SR SirST AT & | R, HfcRTe 3 YaTee €RT 1 41 8 |

2Q
— W
R o By
10V
R,=3Q R;=2Q
(1) 3.13A 2) 2.5A
(3) 10.0A (4) 1.43A

W 3 T gRuy # et Y @ g, Safe e faer
A, B, CUR® # 0 (I) d1 R 1 (T®) & ?

P )
— — Q r——eY
1) 1,1 2) 0,1
(3) 0,0 @) 1,0

Ife @i ReRiab (h), fFafd # gebrer &1 & (c) dorr =ged
BT [ ReRri® (G) AF Hiferss ReRia 8 ar fr=iforiRad
# 3 fbege! faem a8l g1fl it ofwrs @l gieft 87

Gce vhG
M ez @ iz
+vhG hc

3) 52 4) S
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146. Two cars P and Q start from a point at the same time | 146.
in a straight line and their positions are represented by
xp(t) = at + bt? and Xq (1) = ft— t2. At what time do the|

cars have the same velocity
f-a a—f
M 2170 @ T
a+f a+f
@ 2(b-1) @) 2(b+1)

|

|

|

|

|

|

|

147. In the given figure, a = 15 m/s? represents the total I 147.

acceleration of a particle moving in the clockwise

direction in a circle of radius R = 2.5 m ata given instant :
|
|
|
|
|
|
|
|

of time. The speed of the particle is

(1) 6.2m/s (2) 4.5m/s

(3) 5.0m/s (4) 5.7 m/s |
148. A rigid ball of mass m strikes a rigid wall at 60° and | 148.
gets reflected without loss of speed as shown in the |

figure below. The value of impulse imparted by the wall |

in the ball will be
m |
m o ‘ |
3 Vv |
(2) mv 60° |
7 60° |
(3) 2mV |
) v :

@

149. Abullet of mass 10 g moving horizontally with a velocity | 149
of 400 ms™" strikes of wooden block of mass 2 kg which |
is suspended by a light inextensible string of Iength|
5 m. As a result the centre of gravity of the block is|

found to rise a vertical distance of 10 cm. The speed of |

the bullet after it emerges out horizontally from the block |
will be |
|
(1) 160 ms™ (2) 100 ms™ |
(3) 80ms™ (4)120 ms™ :
|
|

S R P AT QU & 99 IR [T fd=g 3 kel Xa@r o
AT URBT Rl © 3R ST Reafqai & o
X,(t) = at + bt? T X (t) = ft — 1 3 Frofia fbar S & |

fra 99 WR 9 ST BT 9T A BIIT?
f-a a—f

M 2a+v) @ T
a+f a+f

@) 2(b-1) @) 2(b+1)

S T ARG H R=2.5m B3 & qeR 9o W)
SRTOTTER T R g bl YT & el aRoT Dl fhdl &7or
a=15m/s* ¥ T far Srar 2 | 39 &1 &) =ret Bl

(1) 6.2mls 2) 4.5mls
(3) 5.0m/s (4) 5.7 m/s
m SFHE $ Udh T 15 (d1) fhf g8 Sar | A
NG 3 TR T AR 60° TR THRABR WA BT ST
21 afk 39 ufthar # 9T @ =1at § @1 =1l e Bl g

al SR gRT € UR o AT BT A BT |
y T
(1) =3
2) mV v

m
( e
3) 2mV 60°
M y
4) 5

400 ms™' & &fast 1 & Ferdt g8 10 g S B TH
el 2 kg SHE & AdhS! & T ICd | THI © | T8
TCHl U 5 m TH! B! A SR A Tl & | Ifa

el & THR & URVTHERY e Bl o s 10cm
FHEIER HWR IS Il &, Al b A &fast fawr § qrer

fpe™ IR el @Y a1 81N
(1) 160 ms™ (2) 100 ms™
(3) 80ms™ (4) 120 ms™
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150. Two identical balls A and B having velocities of 0.5 m/s I 150. <! 9auH el AT B & 9T HHIE 0.5 m/s 0.3 m/s |

151.

152.

153.

154.

and —0.3 m/s respectively collide elastically in one |
dimension. The velocities of B and A after the collision |
respectively will be

0.3 m/sand 0.5 m/s
—0.5m/sand 0.3 m/s
0.5m/sand-0.3 m/s

A particle moves from a point (—2? +5] Yto (4 j+3k

when a force of (4 i+3 J )N is applied. How much work
has been done by the force?

(1) 2J
3) 11J

@) 8J
) 5J |

|
|
|
|
|
|
—0.3m/s and 0.5 m/s |
|
)| 15
|
|
|
|
|

Two rotating bodies A and B of masses m and 2m with |
moments of inertiaI, and I, (I,>1,) have equal kinetic

energy of rotation. If L, and L be their angular momenta |
respectively, then

LB
1) Ly>Lg @ L=
(3) L,=2L, @) Lg>L,

A solid sphere of mass m and radius R is rotating about |
its diameter. Asolid cylinder of the same mass and same |
radius is also rotating about its geometrical axis with an |
angular speed twice that of the sphere. The ratio of their |

kinetic energies of rotation (E Sphere/ E cyIinder) will be : I
(1) 3:1 2 2:3 |
@) 1:5 @) 1:4 |

A light rod of length | has two masses m, and m, |
attached to its two ends. The moment of inertia of the |
system about an axis perpendicular to the rod and |
passing through the centre of mass is:

(1) Jmm,s @ e

m, +m,

mym, 22
m, —m,

|

|

|

|

|

© @ (my+my),? I
|

|

|

151

152.

153.

154.

U TH NG B AW Fed Y THH 2| AR AT TR
TR 2, AT 39 CadhR & TN B AT Ad T BT, SHgr:
0.3 m/s 1 0.5 m/s

—0.5m/s 71 0.3 m/s

0.5 m/s T — 0.3 m/s

(4) —0.3m/sTAT0.5 m/s

1. f5ef BT R (41 + 3] NI o R 8 g (<21 +5])
A Rg (4]+ 3K ) da favenfia & ar & | 59 ufhar & g

g fbar T B fobaar Brm?
(1) 2J 2) 8J
@ 11J @) 5J

o PRl U T fisT AT B & gl sl m d2I 2m
3iIR ST ATl A 1, @A I, (1,>1,) B 1 39 T B
UM TSI SO AIH § aRIER 2 | AT 59D DIV HRT
A L, 7T Ly &,

— LB
1) Ly>Lg @ L=
(3) L,=2L, @) Lg>L,

G m deT oA R &7 U S el 30y & &
AR oI B XET B | S GhHH a1 Sl B &1 U
3 gt (RiafereR) o1 o sl o1t & uRa: epie o
R8T 2 | 9o & FOIF @l S =1t el &1 A1 2 1 3
ST 1 O ISt STl T S (B, /E,_ ) &N |

(1) 3:1 ) 2:3
3) 1:5 4) 1:4

Th Bl ©BS Bl o Tg | 8 | 390% &1 RIvT A haer: m, o
m, SHH @ fUS el 2 | 39 B8 & oirdd al 3%
efa B W Joikd gU &7 & URd: 39 Mer &1 Sfec
JATEOT BRT—

mm,
@) m, +m,

Jmm

m1m2 /2

m,-m, (4) (my+m,),2
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155. Starting from the centre of the earth having radius , the 155, =fe PRl BT 3T R, AT RA & s A URT R [

156.

157. A rectangular film of liquid is extended from| 157.

158.

variation of g (acceleration due to gravity) is shown by |

t t
9 9
) _K @
R = O r

i i

9 9

© @

R

0™ R

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
A satellite of mass m is orbiting the earth (of radius R) |
at a height h from its surface. The total energy of the |
satellite in terms of g, the value of acceleration due to
gravity at the earth’s surface, is

|
|
2mg,R* mgR*
) R+h @) 2(R+h) I
mg,R’ Rmg,R? |
Y=Y 4) —=—
@ 2R+ @ “Rin |

(4 cm x 2cm) to (5 cm x 4 cm). If the work done is |
3 x 107, the value of the surface tension of the liquid is |
(1) 8.0Nm™ 2) 0.250Nm™
(3) 0.125Nm™ 4) 0.2Nm™
Three liquids of densities p,, p, and p, (with p, > p, > p;),
having the same value of surface tension T, rise to the
same height in three identical capillaries. The angles
of contact 6,, 6, and 6, obey

T
(1) n>6,>0,>0,< >

@ 3 >0,>0,0,>0

s
(3) 0=0,<6,<05<7

@)  <0,>0,>0,<n

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
2 |
|
|

@R g & URTAH Bl AFifhd § & SIF—T 3R (ITh)
HE ST § ?

t t
g 9
0 \ @
R = O r

0]
t t
g9 9
©) @
0] R —>r O R —>r

. T SUUE, fd! MM m 8, 92l & %6 A h Has 1R

gedl BT UReHHT PR XET & | Al gedl ol FBroar Re | e
ISP Y UR Hcd 1 @RT BT A g, 8, Al SUUS Bl fel
Sl BHf—

2mg,R* mg,R?
(M R+h @ 2(R+h)
mg,R® Rmg,R*
— 4 R

®) "2Rr+h) “ Ren

&l g9 @7 AFareR f3edl (fhed) &1 fawR
(4 cm x 2cm) ¥ 9gaR (5 cm x 4 cm) &R feaT ST 2 |
Ife 36 vt % far T FRI 3 x 10748, A 5a & IS
TG BT A9 BRT—

(1) 8.0Nm™ 2) 0.250Nm™

(3) 0.125Nm™ @) 0.2Nm™

A gal & T BT py, p, AT py(p, > p,>p,) & | AT
gdl @l g a1 T A € | A9 daad SRreprail # il
9 99 $dTs db dIed 8 | IS 39 gaf & forg wei—apior
HHIL: 0,, 0, TAT 0, 8, 1 F=ferRad & A Bl A
e B ?

(1) 7>0,>6,0,<

@ 5 >0,>0,20,20

s
(3) 0=0,<6,<05<7

@ 5 <0,>0,20,<n
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159. Two identical bodies are made of a material for which | 159. 31 Ad99Y fUvs U U gl & 99 & ST S arRdr

160.

161. One mole of an ideal monatomic gas undergoes al161.

162.

163. Agiven sample of anideal gas occupies avolume V at | 163.

the heat capacity increases with temperature. One of |
these is at 100°C, while the other one is at 0°C. If the |
two bodies are brought into contact, then assuming no |
heat loss, the final common temperature is |

(1) 0°C I
(2) 50°C |
(3) more then50°C |
(4) lessthan 50° C but greater than 0° C I

A body cools from a temperature 3T to 2T in 10 minutes. | 160.

The room temperature is T. Assume that Newton’s law |
of cooling is applicable. The temperature of the body |
at the end of next 10 minutes will be

|
Mm T 2 %T I
|
@ 27 @ =T |

2 3 |

process described by the equation PV2 = constant. |
The heat capacity of the gas during this process is :

|

3 |

@) R @ R |
|

@ 2R @ R |

2 |

The temperature inside a refrigerator is t, °C and the | 162.

room temperature is t, °C. The amount of heat delivered |
to the room for each joule of electrical energy consumed
ideally will be

|
|
t,+1, t, |
M} 1273 @ 14, I
t, +273 t, +273 |

g at2ls
S r—y t, -t I

a pressure P and absolute temperature T. The mass of |
each molecule of the gas is m. Which of the following |
gives the density of the gas? |

(1) mkT (2) P/KT) :
(3) Pm/(KT) (4) PIKTV) |
|
|

a9 B AT 9 SCh 8 | 7 | U fAvs o7 g 100°C
qRAT G T 0°C & | A 37 ST BT Ty 3 Ram o1y 3R
9 UfhaT H W1 BT &9 7 81, Al a1 el 3 Safs
g ERTI—

(1) 0°C

2) 50°C

(3) 50°C ¥ a1

(4) 50°C ¥ HH =g 0° C A i

fordy o 1 a9 3T ¥ 2T d iR 10 fee &1 w9
AT 2 | AR Bl 19 T 2 | A 399 Yed & e Fam

T U Il 8, I 37Tel 10 e & o H avg &
A9 B |

7

(M T @ T
3 4

@ T @ 3T

=TT 9ep H U IRATYD afTeel 19 & b A & gRac
I FHHROT PV = ReRie gRT @rad b orar € 1 g4

b &Y 3afy | A B FT eriRar gnfi—
3

(1) R @ R

) gR 4) 2R

foelt 2Naesd (RfFoReR) & fiaR &1 M t,°C 2 | 3R &R
BT AT t, °C & | IS e H U St fagd ol & &3
M R H P WIFRIRG ST BT A SR—

t, +1, t,
(M %273 @ § 4,
t,+273 t,+273
3) ——
( ) t1 - t2 t1 - t2

oy ammeel 9 & foeel &7 g P aem oRH g T8 )
I VB | 59 I & UAD 3T BT GIHAE m & | 319 BT
e BITT—

(1) mkT

(2) P/IKT)

(3) Pm/(KT) 4) PIKTV)
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164. A body of mass m is attached to the lower end of a! 164. G TN 3T SO RRT ReR & 9o et R I m

165.

166.

167.

168.

spring whose upper end is fixed. The spring has
negligible mass. When the mass m is slightly pulled |
down and released, it oscillates with a time period of|
3 s. When the mass m is increased by 1 kg, the time |
period of oscillations becomes 5 s. The value of m in |
kg is: |
9 3 16 I

|

4
M @57 @3 @y

The second overtone of an open organ pipe has the | 1

same frequency as the first overtone of a closed pipe L |
meter long. The length of the open pipe will be |

(1) 4L @) L
3) 2L L

|
|
4) > I
|
|

5.

SAM BT Udh fUU8 dCH & | HHA BT AT GTA
IO B | AT & rael RR ®1 oisT 91 G Brs o
TR GIHM m T U0 Gl B 71T © 3IR 39 Gl
BT ATAdDIA 3s2 | m D A H 1 kg I W Sl &
JMadadTel 58 8l SITAT & | m &7 kg § A g—

9

16
M 16

3 4 16
@5 O3 @y
=AY gt I TSy & fgeily SifaaRe® &1 gfy L Hiex
T I8 UTSY B Y SRR E BT MIRT & IR B | G

I3y &) ofHTs 8lfl—

(1) 4L (@ L

L
@ 2 @ 5

Three sound waves of equal amplitudes have frequencies | 166. XTI SITATH @1 <+ eafsy ANl &1 IMRIAT B (n—1),

(n=1), n, (n + 1). They superimpose to give beats. The |
number of beats produced per second will be |

(1) 2 2) 1 (3) 4 4) 3 |

An electric dipole is placed at an angle of 30° with an | 167.

electric field intensity 2 x 10° N/C. It experiences a
torque equal to 4 N m. The charge on the dipole, if the |
dipole length is 2cm, is |
(1) 7pC (2) 8mC |
(3) 2mC 4) 5mC |

A parallel- plate capacitor of area A, plate separation d | 168.

and capacitance C is filled with four dielectric materials |
having dielectric constant k,, k,, k; and k, as shown in |
the figure below. If a single dielectric material is to be |
used to have the same capacitance C in this capacitor, |
then its dielectric constant k is given by

A3 A3 A3
7114/: T *
£¢k1/ k

|

|

|

|

|

|

|

11 1 1 |
=—t—t—t—

Kk, Kk, 2K, |

K, |

|

|

|

|

|

|

|

™
@)

1
k
K=K, +K,+K,+ 3K,

2
(3) kzg(k1 +k, +k;)+ 2k,

2 3
@

=t
k,+k, +k; Kk,

n, (N+1) 8| g7 FIRM ¥ fog=< I= &I 2 | i
THTE I fIu=l a Her gef—

(1) 2 2) 1 Q) 4 4) 3

wo faga fgga @1 2 x10° N/C e & faga &3 & 30°
BT TR Y H S W 4 N m & of Tl o 7 | IS
faga @1 owITg 2cm €, d1 S 37T 8N T—

(1) 7uC 2) 8mC

3) 2mC 4) 5mC

T FATKIR—USchT TR 6T &ahel AT s aTRar
C? | 39! 1 @il & §Id &1 gy (1) d B | SHH HA:

Ky, Ky, Ky TIT k, ORI & AR WRTdgd uered, e fo
NG ¥ TR MY AR, 4R T © | AT 39 =RT URTIE
ggTell & AN WR 5 FETRA H k RIS BT dhadl Uh
TRTIE UaTef WRT S 1% SHa! enlRar C & 8, a1 k @

A 8N

A3 A3 A3
3%732% Ks id/2

A
i1, 4,12, 1
M K7k Tk k2,
@) K=K, +K,+K,+ 3K,
(3) kzg(k1+k2+k3)+2k4
2 3 1

e
@) KTk 1k, +k, K,
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169. The potential difference (V, — V) between the points A | 169. <21 T kW # fa=gail Adenr B & 4= fawarx

!
|
and B in the given figure is : | (Vu V)EﬁTﬁ
Va 20 = 10 Vs I Va 20 t 10 Vg
A 1=2A 1=2A
(1) +9V 2) -3V I (1) +9V 2) -3V
3) +3V 4) +6V | 3) +3V 4) +6V
170. Afilament bulb (500 W, 100 V) is to be used ina 230 V| 170. e fberiie () aed (500 W, 100 V) &I 230 V &1 ¥+

171.

172.

173.

174.

main suply. When a resistance R is connected in|
series, it works perfectly and the bulb consumes|
500 W. The value of Ris:

|
|
(1) 13Q (2) 230Q |
(3) 46Q 4) 26 Q I

A long wire carrying a steady current is bent into a | 171.

circular loop of one turn. The magnetic field at the centre |
of the loop is B. It is then bent into a circular coil of n |
turns. The magnetic field at the centre of this coil of n|
turns will be : |
(1) 2n’B 2) nB I
(3) n’B (4) 2nB |
A bar magnet is hung by a thin cotton thread in a
uniform horizontal magnetic field and is in equilibrium |
state. The energy required to rotate it by 60° is W. |

Now the torque required to keep the magnet in this |
new position is : |

2W W |

M 5 @ 5 :
|

® w @ W |

An electron is moving in a circular path under the influence | 173.

of a transverse magnetic field of 3.57 x 102 T. If the |
value of e/m is 1.76 x 10" C/kg, the frequency of |
revolution of the electronis:

(1) 6.82MHz (2) 1GHz

(3) 100 MHz (4) 62.8 MHz

Which of the following combinations should be selected ! 174

|
|
|
|
for better tuning of an L-C-R circuit used for|
communication? I
(1) R=25Q,L=15H,C=45uF |
2 R=20Q,L=15H,C=35uF |
(3) R=25Q,L=25H,C=45yF |
4 R=15Q,L=3.5H,C=30puF I

|

| 172.

qeATs H Uga a1 ST 2 | 39 #1o7shd H R UfoRie
e R I8 9od Qofd: S w1 HeaT & aeim 500 W eIfad
AT 2| R&T A 2 :

1) 130 2) 2300

(3) 46Q 4) 26 Q

et o IR ¥ SmRact faggd—erT varfaa &1 & 21 54
TR BT U B S JPR UTeT (¢U) H Al R $HD 7w
R GBI & B A BE | 3R g AR Bl n BRI B
FATPR HSell | /S AT ST 8, S 59 n BRI BT HSell
D Bs W GBI &7 BN |

(1) 2n’B 2) nB

(3) n’B 4) 2nB

Pl e aftsT g &3 | Us udel Al 9T
ACHRT 7T Th G Fradh AT 7 7 | 3 60° A gAM
% g argegs ol W 2| 314 39 ged $I 1 71
Reafd # 99”1 W & folg smawasds qo—smeyl &1 A4
B |

2w w
NG @
@ Jaw @ @

3.57 x 1072 T <fieral & SruReT Jad &3 & WTd H U
SIS g e H gUiE AR & 2 | AR e/m BT WA
1.76 x 10" C/kg &1, 1 golagi= & UREHHOT B Mgfy
&l |

(1) 6.82MHz ) 1GHz

(3) 100 MHz (4) 62.8 MHz

. HaR g Al L-C-R uRuer & J8cR FHwERYT (ST[+T) &
forg frafafad & & S—1 Ao SUYH BN ?
(1) R=25Q,L=15H,C=45uF

2) R=20Q,L=15H,C=35uF

3) R=25Q,L=25H,C=45uF

4) R=15Q,L=3.5H,C=30uF
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175. A uniform magnetic field is restricted within a region of | 175, B3 HAAM Frobid &3 r a1 & ol e J WiHd 5 |

176.

|
177. A 100 Q resistance and a capacitor of 100 Q reactance | 177.

178.

radius r. The magnetic field changes with time at a rate

dB
it Loop 1 of radius R > r encloses the region r and

loop 2 of radius R is outside the region of magnetic
field as shown in the figure below. Then the e.m.f.
generatedis:

dB
M " r?in loop 1 and zero in loop 2

(2) zeroinloop 1 and zero inloop 2
dB . dB .
(3) p nrin loop 1 and p nrein loop 2

dB
4) _En R%in loop 1 and zero in loop 2
|

The potential differences across the resistance, | 17e.

capacitance and inductance are 80 V, 40 V and 100 V|
respectively in an L-C-R circuit. The power factor of |
this circuit is |
(M 1.0 (2) 04 I
(3) 05 4) 0.8

are connected in series across a 220 V source. When |
the capacitor is 50% charged, the peak value of the|
displacement current is |

1) 11+2A
3) 1A

|
(2) 2.2A |
@) 4.4A |
Two identical glass (u, = 3/2) equiconvex lenses of focal I
length f each are kept in contact. The space between |
that two lenses in filled with water (i, = 4/3). The focal |
length of the combination is |
3f |

|

|

|

|

|

f
M 5 @ 3

3 f @ =

g e i T W < ) o e 2|

I 3 3 H SR T AR 35T R > r 7 I (W)
1, r &3 Bl URTE AT & 21 R a1 &1 urer 2, gearg
&3 B T H 1R B | S fAgqarsd aa & A 81 |

dB :
(1) urr 1—Enrzﬁ?ﬂw2ﬁ¥ﬁ

(2) URT 1 H I qATURI2 H A

. dB . dB
3) wﬁ—anrza@ﬂwzﬁ—anrz

. dB :
@) urer1¥ —(jj—tnRzaaTwzﬁafa

Y L-C-R uRuey & ufeRieye, 91T Torm IRaod & RRT &
a1 g~ 80V, 40 V @21 100 V € | 39 uRuer &1 o1fth

ToTi BT |
(1) 1.0 2) 04
3) 05 4) 0.8

100 Q BT Udh UfaRIE TT 100 Q UfTaTd &1 T TermfRe,
Bl 220 V& wa & oofisee # 9 2 | 9utRa & 50%
AR B9 UR faRemue aRT &7 BReR 919 8 |

1) 1M +2A

2) 2.2A
@) 1A 4) 4.4A

P (g = 3/2) B T GIGH FHIIA ol H GAD Bl
BB U f B | AP D H IGIR 3@ a1 B th LA
B A (w,, = 4/3) H ¥R &7 ST 8 | 9 TBR a9 FA
BT BIHT g BT |

3f f

M @ 3
4f

@ f @ 5
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(near normal incidence) is 5 cm deep when viewed from |
one surface and 3 cm deep when viewed from the |
opposite face. The thickness (in cm) of the slab is

179. An air bubble in a glass slab with refractive index 1.5 : 179. a1 B ufgd], [T uad=ie 1.5, & AR a1

T & Jgell < & | TPl & U IS A T e
T R T gAgel Bl MRS 5 cm qAT ARG g
3@ W 3cm T Bl 8 | 39 Ul A Herd (cm )

|

(1) 16 2) 8 I RIS

3) 10 @) 12 | (1) 16 2 8
| (3) 10 4) 12

180. The interference pattern is obtained with two coherent | 180. @121 @ ST Bl Il B e T n € | §7d
light sources of intensity ratio n. In the interference |

- Ilmx _Imin
L awmwﬁww%aﬂwﬁeﬁﬁﬁwﬁm
pattern, the ratio ﬁwill be I S
| v
2:n Jn 2 R
(1) (n+ 1) ) — I (1) 01 ) T
' Jn
2\/ﬁ \/ﬁ & n
R AT I S @ ey
|
|
|
|
a a a
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